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The following Table-I shows the sales (in ¥ crore) of Ice-cream in India during the six years from
2018 to 2023 and Table-II shows the percentage market share of various companies in the sale of
Icecream in the year 2020. Based on the data in the tables, answer the questions that follow.

Table-1 : Year-wise Sale Details of Ice-Cream (in ¥ Crore).

s Ice-Cream Sale
(in Crore)
2018 7500
2019 8200
2020 8500
2021 8000
2022 8500
2023 9500

Table-II : Company-wise Percentage Market share in the Ice-Cream Sale in 2020

Baskin

Company | Amul |Wadilal| . | Wama |Kwality | Others
: Robbins '

Percent Share| 28% | 13% 10% 6% | 35% 8%

Sub questions

Question Number : 1 Question Id : 53307219125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the difference between the sales of Amul and Warna in 2020 ? (in ¥ crore)
(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options:
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307219126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the average annual rate of increase in the Ice-Cream sale in 2023 in comparison to the year
2018 ?

() 533 %

(2) 2667 %

(3) 6.67 %

4) 10%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 53307219127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the percentage market share of companies remains the same in 2021 as that in 2020, then what
is the increase/decrease in the turnover of Amul from 2020 to 2021 ?

()

(2) %140 crore decrease
(3)

(4)

< 175 crore increase

% 175 crore decrease
¥ 140 crore increase

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307219128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the sale of Wadilal increases by 38 % from 2020 to 2023, and the percent sale of other companies
accordingly stands reduced then what would be the market share of Wadilal in 2023 ?

1) 175%
Q) 18%

() 1694 %
() 1605 %

Options :
1.1
2.2
3.3



4.4

Question Number : 5 Question Id : 53307219129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The market share of companies in 2023 is same as in 2020. In 2024, the ice-cream sale increases by
10 % but the market share of Amul falls to 23 %. What is the percentage change in the turnover of
Amul from 2023 to 2024 ?

(1) 964 % increase
(2) 9.64 % decrease
(3) 17.86 % increase
(4) 17.86 % decrease

Options:
1.1
2.2
3.3
4.4

Question Id : 53307219124 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 53307219125 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o 2020 § ST TR oA A farsht < s o1 SR foha1 (TFUS W) B2

(1) 1804

(2) 2380
(3) 1870
(4) 1760
Options :
1.1

2.2

3.3

4.4

Question Number : 2 Question Id : 53307219126 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a 2018 F qoF H T4 2023 W MW W Fi Tkt # i et 9fig e €2
(1) 533 %

(2) 26.67 %
(3) 6.67 %
(4) 10 %
Options :

1.1

2.2

3.3

4.4

Question Number : 3 Question Id : 53307219127 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 53307219128 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 2020 9 2023 T AT 2 fohl H 38 % g B & IR 974 A 2 Woue fooh H g
9 &, @ ad 2003 % STl % A SR foe g

(1) 175%

2 18%
() 169 %
() 1605 %
Options :
1.1

2.2

3.3

4.4

Question Number : 5 Question Id : 53307219129 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2023t 1 AT SR 7@ & W 2020 % e 2024 % w7 o # 10 % o 9 ¥ W
ST o TR S FTORA 23 % B ST 2 1 2023 2024 T St o BRI H ol oo e o & 7
(1) 964 %3

(2) 964 % FH

(3) 1786 % g

(4) 1786 % 7

Options :

1.1

2.2

3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 533072750
Question Shuffling Allowed : Yes



Question Number : 6 Question Id : 53307219130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps of the cycle of self regulated learning in logical order ?
A) Setting goals
B) Regulating learning

D) Analysing the task
E) Devising plans
Choose the correct answet from the options given below :

0 E), (D) (B), (A) (©

(
(
(C) Enacting Tactics and Strategies
(
(

(2)  (B), (C), (E), (D), (A)
(3) (D) (A), E), (©) (B)
4) (A) (E), ©), (B), D)
Options

1.1

2.2

3.3

4.4

Question Number : 6 Question Id : 53307219130 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o -fafafiad SIferTy <15k o eI 1 dlfcheh ohH H ool i
(A) @& TAifa e

(B) aferm fafvafaa s

(C) fFar sir TorHifat T= #0m

(D) T7gd =/ = fagerao HE

(E) A IR AT

<= fou T faeredi § | W& S % =AA Hifod

(1) (E), (D), (B), (A), (C)

(2)  (B), (O (E), (D), (A)
(@) (D) (A), (E), (O (B)
(4) (A), (E), (Q), (B), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 7 Question Id : 53307219131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the content that we have previously learned interferes with the recall of something newly
learned then the interference is :

(1)  Retroactive Inhibition

(2) Proactive Inhibition

(3) Attention Inhibition

o

Response [nhibition

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 53307219131 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o TR B Vel v e o i < i v et o e fer el s € 9% S g
g

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307219132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Anna sits at her kitchen table and is able to think about what she needs to buy from the grocery
stores. She is using her ability to:

(I) Recognise
(2) Recite
(3)  Recall
( A

4)  Memorize

Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 53307219132 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

9 ST T R B S TR e U e 2 ¢ 1 30 feR e A T S A e
T & | 9 A A 7 T fwfefen & fu @ g

(1) T

(2) g
(3) A
(4) FoWF
Options:
1.1

2.2

3.3

4.4

Question Number : 9 Question Id : 53307219133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha Channel-11 with the theme of “Social Sciences and Humanities’
are provided by :

(1) CEC, New Delhi
(2) IGNOU, New Delhi
(3) T, Delhi

(4) T, Madras

Options :
1.1



2.2
3.3
4.4

Question Number : 9 Question Id : 53307219133 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

g1 o7 - 11 %1 5 form iR sfo ' o @ e s frwrfi gm0 soere #E S

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 53307219134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a biology class, a teacher wants to conduct a formative assessment to gauge students
understanding of cell structure and function. Which of the following tools would be most effective
for creating interactive quizzes with immediate feedback ?

(A) Google forms

(B) Adobe [llustrator

(C) Kahoot

(D) Audacity

(E) Camtasia

Choose the correct answer from the options given below :
() (B), (C) and (E) Only

(2) (A), (©), (D) and (E) Only
(3) (A)and (C) Only

(4) (B), (D) and (E) Only
Options :

1.1

2.2



3.3
4.4

Question Number : 10 Question Id : 53307219134 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

W9 faqm 1 T 1 W S, FE S W R g 5 6 A 6 6
fere Fmfomeees v 1 &1 e Wioge (reas:) Gfed Wom Harearet FHmfe & S 7 &
feu ffefian SH-11 SvE Fo® g9 2

(A) Tl

(B) T TR

) #E

(D) el (efae)

(E) Wl

e feu o ot W @ W@ I A T e
(1) %A (B), (C) R (E)
(2) 9 (A), (C), (D) 4R (E)
(3) A (A) IR (C)

(4) (B, (D) 3 (B
Options :

1.1

2.2

3.3

4.4

Question Number : 11 Question Id : 53307219135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following represents the epistemological orientation of qualitative research ?
(1) Deductivism

(2) Positivism

(3)  Objectivism

(4) Interpretivism

Options :
1.1
2.2



3.3
4.4

Question Number : 11 Question Id : 53307219135 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefa & § SF ToTeTE e & FEEEERE Afifem e w g2

(1) e

(2) HHHAS

(3) famafear
(4) SAEAER

Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307219136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In many studies that span along period of time, participants in the study may leave. This constitutes
which of the following threats to internal validity ?

(I) Testing

(2) Instrumentation
(3) Mortality

(4) Maturation
Options :

1.1

2.2

3.3

4.4

Question Number : 12 Question Id : 53307219136 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T o aer o W wee ol 3R R oo o wevrh ol W § 1 %R ol v ¥ ot
fepetfefim @ #19- Wfaw §7

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307219137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order of the following nformation about a research article, according to the

APA style of writing journal article references.

(A) Volume number

(B) Year of publication

(C) DOL

(D) Title of article

(E) Name of journal

Choose the correct answer from the options given below :

M) (©) (D) (B) (A) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 53307219137 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i o fere 1 T e % SR, 9 o & R H ffafed SRR % T8 6 wEE
(A) HEHEA

(B) TV A

(C) & o

(D) @ 1 wivF

(E) e & AW

A fou U ferhedl o | W 3 A T
() (©), (D), (B), (A), (E

) (®) (D) (E) (A) (©
() D) (E) (), (B) (©
(4) D) (&) (), (A), (B)
Options :

1.1

2.2

3.3
4.4

Question Number : 14 Question Id : 53307219138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the continuous variables.
(A) Number of tails obtained in hundred tosses of a coin

(B) Weight of students in a school

(C) Marks scored by students in an objective type examination
(D) Height of plants in an agricultural field

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options:

1.1

2.2

3.3

4.4



Question Number : 14 Question Id : 53307219138 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qad =7 1 JedH S

(A) Tordl TR 1 T 91 R 380! SH 9 9T 92 hl SE&AT
(B) Tordt fagarem # fagafdi &1 o=

(C) =M YR =i THian | fagafedi & i
(D) WdraEt ot ot B o dtel o S

= feu v fasedi § 9 We ST 1 =999 Fife
(1) <9 (A) 3R (B)

(2) %= (C) ¥R (D)

(3) FE (A) IR ()

(4) 9 (B) 3R (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 15 Question Id : 53307219139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the non-parametric tests used in statistical arlal}rsis.
(A) Chi-square test

(B) U-test
(C) H-test
(D) t-test

Choose the correct answer from the options given below :
(I) (A) and (B) Only
(2) (B) and (C) Only
(3) (©) and (D) Only
)

(4) (A) and (D) Only
Options :

1.1

2.2

3.3



4.4

Question Number : 15 Question Id : 53307219139 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gifersa faverao § ygaa sTam=rel 9iervi 1 qe=H Fifer ;
(A) HE - A GHE

(B) ¥ - &
(C) TH - e
(D) & - Tdiem

= feu U fawed °§ 9 WEr 3 =9 FH I
(1) ad (A) 3R (B)

(2) haa (B) R (C)
(3) A (C) 3R (D)
(4) FaA (A) 3R (D)
Options :

1.1

2.2

3.3

4.4

Question Number : 16 Question Id : 53307219140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A cartoon is of :

(1) High definition
(2) Low definition
(3) Neutral definition

(4) Negative definition

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 53307219140 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Bl €

(1) = gl I

) T e

(3) HEAH Tl

) FTRUCHE Tl

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 53307219141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period of time when a communication network becomes inoperative, is referred to as :
(1)  Time fit

2
3
4

(2) Uptime
(3) Downtime
(4) Loadtime
Options:
1.1

2.2

3.3

4.4

Question Number : 17 Question Id : 53307219141 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

grarafy foad §9r Jeas faferg 8 5 & 59 9efia 9 © -

(1) =rEm e
(2) 9 <I=H
(3) SIS drgH
(4) S A

Options:

1.1

2.2

3.3



4.4

Question Number : 18 Question Id : 53307219142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following concepts are related to mass communication ?
(A) Global village

(B) Medium is the message

(C) The extension of man

(D) Pop culture prophet

Choose the correct answer from the options given below :
(1) (A), (D) Only

() (A), (B) and () Only

(3 (B), (C) and (D) Only

(4) (A)and (B) Only

Options :

1.1

2.2

3.3
4.4

Question Number : 18 Question Id : 53307219142 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafga § § @9 9 deegd 5@ 99r 9 defum €2
(A) dIfvees am
(B) AW WM
(C) WHA faEr
19 HEFfd A el
A= feu 7o foepedl o 9 W& I = = S
(1) < (A), (D)

(2) %9 (A), (B) TR (C)
(3) %9 (B), (C) ¥R (D)
(4) FAA (A) SR (B)
Options :

1.1



2.2
3.3
4.4

Question Number : 19 Question Id : 53307219143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As a mode of communication, drama has four forms from the western perspective. They are :
(A) Tragedy

(B) Comedy

(C) Serious drama
(D) Melodrama

(E) Character drama

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) Only

(2)  (B), (C), (E) Only
(3) (A)(C), (D), () Only
(4)  (A), (B), (D), (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 19 Question Id : 53307219143 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR goretl % &9 H, ufyeed g  eE FER R g9 €
(A) Sl

(B) WeEA

(C) TR Ae®

(D) =fd e

(E) =Rk Ak

i< feu T fashedi H | Wa 3L 1 TG HifeU
(1) = (A), (B), (O), (D)

(2) = (B), (O), (E)

(3) @ (A), (O), (D), (B)

(4) = (A), (B), (D), (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 20 Question Id : 53307219144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[denlify the correct ch_rnnnlngica] sequence of the fn]lnwing 3
(A) Launch of Twitter

(B) Launch of Facebook

(C) Appearance of social network sites
(D) Launch of Spuinik

(E) “War of the worlds’ broadcast

Choose the correct answer from the Dptinns given below :

(L) (A) (©), (B), (E), (D)

2 (B), (D), (C), (B), (A)
(3)  (B), (B), (D), (A), (C)
4) (©), (B), (A), (D), (E)
Options :

1.1

2.2

3.3



4.4

Question Number : 20 Question Id : 53307219144 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafea =1 9t FeArshHe el i o Y
(A) T2oeX &1 Ry

(B) THHEH H HRH
(C) IfSre =Zerk g2y =1 SAffavie
(D) TIATTF SR

i

(E) '9R 1% &1 doed’ dieHe

e feu U faspedl O ¥ W& 39 F 9949 Hifo
(1) (A) (©), (B), (E), (D)

@ (E), (D) (©), (B), (A)

(3) (B), (E). (D), (A), (C)

4) (©), (B), (A), (D), (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 53307219145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 15 %, 20 % and 40 % on the marked price of an item are equivalent
to a single discount of :

) 5%

) 408 %
) 592 %
) 675 %



Question Number : 21 Question Id : 53307219145 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fereil o o Sifohd Ted T AR FHIE T2 15 %, 20 % T 40 % o FHHH Thet 922 7
1) 7%

() 408 %
(3) 59.2 %
(4) 67.5%
Options :
1.1

2.2

3.3

4.4

Question Number : 22 Question Id : 53307219146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 men working 8 hours per day complete a piece of work in 18 days. To complete the same work
in 6 days, working 12 hours a day, the number of men required will be :
) 24 men
) 26 men
3) 28 men
) 30 men
Options :
1.1
2.2

3.3
4.4

Question Number : 22 Question Id : 53307219146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

15 ST fafeet 8 e % ek 18 ol & 0 W 0 0 1 3H AW A 6 fe § e F fow yfeen
12 %21 %W T, ot SR 1 vl g ?

(1) 24 il 3

(2) 26 SRfl A

(3) 28 Sl &l

(4) 30 smwh Al

Options :



1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 53307219147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the series.....
275, 7Y7, 14X9, 23W11, 34V13, (?7)

(1) 27024
(2) 45U15
(3) 47U15
(4) 47U14
Options :
1.1

2.2

3.3

4.4

Question Number : 23 Question Id : 53307219147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

71 sj@ren # 3Ter 9 3 e
275, 7Y7, 14X9, 23W11, 34V13, (?)
(1) 27024
(2) 45U15
(3) 47U15
(4) 47014
Options :
1.1

2.2

3.3

4.4

Question Number : 24 Question Id : 53307219148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, if the word "TREND’ is coded as ‘QUBQA’, then the word ‘STRAY’
will be coded as.

() PVPDV

(2) PWPDW

(3) PWODV

(4) QWPEW

=y

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 53307219148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T fAf¥an Fecia 9§ 92 ‘TREND’ #1'QUBQA’ 8 Ffed o 911 &, 7@ T2 STRAY' 1 2
caf

(1) PVPDV

() PWPDW
(3 PWODV
(4 QWPEW
Options:
1.1

2.2

3.3

4.4

Question Number : 25 Question Id : 53307219149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A person travels from X to Y at a speed of 30 km/hr and returns from Y to X by increasing his
speed by 50%. His average speed during the journey is :

(1) 375 km/hr

(2) 37 km/hr

(3) 36 km/hr

(4) 38 km/hr

Options :
1.1
2.2



3.3
4.4

Question Number : 25 Question Id : 53307219149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T e 30 fope,/sien 1 fa B X Y 9 A T € R 50% At v F Y W X 7 g o |
1 o SR Sh Sir Il P e 2

(1) 375 ot o
(2) 37 ol /d
(3) 36 foll. /4
(4) 36 foll. /4
Options :
1.1

2.2

3.3
4.4

Question Number : 26 Question Id : 53307219150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

[dentify the fallacy committed in the statement given below :

“People who lack arrogance are intelligent because intelligent people do not have arrogance”
(1) Equivocation

(2) Fallacy of division
(3
(

)
) Begging the question
g

Fa]la.c;yF of composilion

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 53307219150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



friferfaa o § aehe & TeEE
o T H SR T B, o SfgHE I © TR SfHA el W SRR el el |
1) SR

(

(2) farEdm
(3) e 3y
(4) Hefadm
Options :

1.1

2.2

3.3

4.4

Question Number : 27 Question Id : 53307219151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions is contrary to the proposition. “All cows are herbivores” ?

(1) All herbivores are cows.

3
4)  No cows are herbivores.

2)  Some cows are herbivores.
) Some cows are not herbivores.

(
(
(

Options:
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 53307219151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freforfea # | S ot giaafa fF et 7 wermert St €' = s €2
1) |t IR T €

2) Tl T ST B € |

3) T M IEER T B ¢ |

4) I TT YRR T A )

Options :
1.1

(
(
(
(



2.2
3.3
4.4

Question Number : 28 Question Id : 53307219152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent ?
(A) All cows are herbivores.

(B) All herbivores are cows.

(C) Some herbivores are cows.

(D) No cows are non-herbivores.

Choose the correct answer from the options given below :
(I) (A) and (B) Only

(2) (B) and (D) Only

(3) (B) and (Q) Only
4) (A) and (D) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 28 Question Id : 53307219152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafad & & -8 Hu difdhes gfte & THqe §2
(A)  [off T wITeRTRTY e € |

(B) Wl MRS T4 =ld 2 |

(C) o IMFTERT T B 2 |

(D) T2 A TR eRE e ol ¢ |

=1 feu 1o faskedi § ¥ W I & =99 Hifad
(1) <9 (A) 3R (B)

(2) I (B) $R (D)

(3) = (B) 3R (Q)

(4) A (A) #R (D)



Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307219153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following propositions cannot both be false, though they can both be true ?
(A) All cows are herbivores,

(B) No cows are herbivores.

(C) Some cows are herbivores.

(D) Some cows are not herbivores.

Choose the correct answer from the options given below :

(1) (A)and (D) Only

@ (0 and (D) Only
(3) (B) and (C) Only
@

4) (A)and (C) Only
Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 53307219153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frerfetfie wfamfiae o 3§ M o < wfeafiest o T @ e, wes § 5 Wl @ ga £
(A) T T IR B

) I T VTR T B &
C) @@wﬁwrﬂa‘m%
(D) ¥ T TR Tl el ¢
%ﬁqwﬁwﬂﬂﬁqﬁrwwwﬁm:
(1) A) 3 (D)
( ) SR (D
(3) ) ¥ (C
(4) A) 3 (C)

% &% 9 g

(=]

(
{
(
(4)

EREI

1

Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to dlassical Indian Philosophy the source of knowledge based on cognition of an object,
similar to another one which is already known to the cognizer is known as :

(1) Sabda

(2) Pratyaksa
(3) Anumina
(

4)  Upamana

Options:
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 53307219154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the fourth generation
electronic computer ?

(1) Transistor based

(2) Integrated Circuit (IC) based

(3)  Vacuum Tube based

(4)  Microprocessor based

Options:
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 53307219155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 5 8 3 ) geraiien e aqd el % SemRen He TN o TE W ¢ 7
WEEERE R

Options :
1.1



2.2
3.3
4.4

Question Number : 32 Question Id : 53307219156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Many websites require the following to be completed :

Ll 'm not a robot.

This is an example of which data issue ?
(1) Accuracy

(2) Matching

(3) Quality

(4) Security

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 53307219156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3k derdErsel W = @ gu fee S o sevgedl B ©

Ll I'm not a robot.

I8 <21 HeHl %A H 78 1 I3 & 2

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of words A-E that correctly fills the blanks in the following paragraph :

is small amount of memory located on the CPU itself.
_____ is a form of ROM that is commonly used in embedded devices such as washing
machines, smart phones, etc. 15 mainly used in a PC to store the tiny OS called the
BIOS. is a storage allocation scheme in which secondary memory can be addressed as
though it were part of the main memory. is a type of very fast memory that is used to
temporarily hold data about currently running programs.
(A) ROM
(B) RAM
(C
(D
(E)  Virtual memory
Choose the correct answer from the options given below :
(1) @) © (4) E) B
2) (© (D) (A), () (B)
3) (©, (D) (B), (E), (A)
4) () (D) (4), ), (E)

) Cache memory
)

Flash memory

{
(
(

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 53307219157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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( ,
( ,
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Options :
1.1

2.2

3.3

4.4

Question Number : 34 Question Id : 53307219158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If (L)y; represents a number L in base-M number system, then which of the following numbers are
equivalent to (19),, ?

(A) (11001),

(B) (201)5

(€ (121),

(D) (1015

E) D)y

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only
(2) (B) and (D) Only

() (A) () and (D) Only
() (A),(B) (C), (D) and (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 34 Question Id : 53307219158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AfesTem-M el vt # (L), § LA <o & 9 1 § | 91 5 e (19),, % T §7
(A) (11001),

(B) (201),

(C) (121),

(D) (101,

E) (B)

el feu o fomredi & 9@ W SR A T FHC
1) (A), (C) IR (B)

) % (B) R (D)

3) % (A), B) (D)

4 (A),(B) () D) I E

—— e g—

Options :
1.1
2.2
3.3



4.4

Question Number : 35 Question Id : 53307219159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List - I List - 11
(Computer Terms) (Purpose)
(A) Motherboard (I Stores the date, time and system configuration for BIOS
(B) BIOS (I)  Allows processor and other hardware to function and
communicate with each other
(€) CMOS (IT) Transfer the contents of web pages into a web browser for
viewing
(D) HITP (IV) Initializes and tests the system hardware components and

loads an OS5 when a computer is turned on
Choose the correct answer from the options given below :
() (A, B, (CHIV), (HIL)
2)  (A){I), (B}IV), (CH), (DHI)
3) (A}, (B)-(V), (C)-(1), (D(II)
) (A

) (V) (BHI, CHID, (1)

@ |
@
@
Options :
1.1
2.2
3.3

4.4

Question Number : 35 Question Id : 53307219159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) (A, B)-(), (OHIV), (D)

(@) (A, (B)-{V), (CHD), D))

() (AHI, B)-(IV), (C)-{D), (D)

(4)  (AHIV), (B)-(IL), (CHI, (D)-()

Options :

1.1

2.2

3.3

4.4

Question Number : 36 Question Id : 53307219160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Kyoto protocol, how much target was fixed for the reduction of concentration of Green House
Gases (GHGs) below 1990 level, during first commitment period 2008-12 by state parties ?

(1) 10°%
Q) 52%
() 104 %
) 200°%

Options:
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 53307219160 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

e ovTcr %0 e g e et e et 2008-12 % SR 9 e i (GHGs) % e &
1990 %R § &9 11 1 oy @ fwifa fovn o2
() 10%

2 52%

(3) 104 %

(&) 200 %

Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307219161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are biogas ?

(A) Marsh Gas

(B) Swamp Gas

(C) Producer Gas

(D) Compost Gas

(E) Flue Gas

Choose the correct answer from the options given below :

(1) (A), (B) and (D) Only

(2) (B), (€) and (E) Only
(3)  (A), (C) and (E) Only
(4) (©), (D) and (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 37 Question Id : 53307219161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa & & # awEg 2
(A) HE "

(B) @ ig

(C) W TE

(D) HIE TH

(E) W™

= feu U foeredi § 9 Wer SO &1 =949 Hi
(1) de (A), (B) &R (D)
(2) e (B), (C) IR (E)
(3) FaA (A), (C) R (E)
(4) %= (C), (D) ¥R (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is considered to be the finest particulate matter ?
(I) Fine mode particles

(2) Neucleation mode particles

(3) Aitken mode particles

(4)  Accumulation mode particles

Options:
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 53307219162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frfafeas § 4 fora w1 gaman HforeR ge1ed wH1 ST € 7
(1) A (gaH) Hie afésay

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 53307219163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the fullnw'mg 15 an Example of natural climate fnrcing ?
(1) Green House Gases

(2) Volcanic erruptions
(3) Land use changes

(4) Tropospheric aerosols
Options:

1.1

2.2

3.3

4.4

Question Number : 39 Question Id : 53307219163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafaa § @ 219 T WFfas a9 9617 F1 UF e © 2
(1) ¥UH &9 TH

(2) OTETE F EE

(3)  uff 37ErT afEdd

(4) &ivHEErE (ZITEEER) T
Options :
1.1
2.2

3.3



4.4

Question Number : 40 Question Id : 53307219164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true about Pyrolysis ?

(A) It produces less air pollution than complete incineration.

(B) It is done in the presence of oxygen.

(C) Instead of oxidation a complex series of decomposition and other chemical reactions take
place.

(D) Pyrolysis many times generates useful materials.

(E)  Pyrolysis is a high temperature thermal process, an alternative to incineration,

Choose the correct answer from the options given below :

() (4)(B)(C)and (D) Only

) (A) (0) () and (E) Orly

() (B), (C), () and (E) Only

(4) (A), (B) and (E) Only

Options :

1.1

2.2

3.3

4.4

Question Number : 40 Question Id : 53307219164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(A) 7 Y Syeliern 1 e § W 9 R I A €

(B) 7% e o Iuferta W o e €
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(D) 93T g S ST T S ¢

(E) TI0-3I7ereH e 3 A9H e W & W el o oy ¢

13 fow T forrel 9 R R 9 T
(1) 9 (A), (B), (C) R (D)

() % () (C), (D) ¥R (B

(3) % (), (C) (D) ()

(4) 9 (A), (B) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 41 Question Id : 53307219165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The first foreign university to set up its campus at GIFT City, Gujarat, is :
(1) London University, Britain

(2) Queen’s University, Ireland

(3) Deak in University, Australia

(4) Moscow University, Russia

Options:
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 53307219165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



St o WE 2 5 (GIFT City), o ¥ o1 W, <o e ren ween focet fervafermera @ ¢
(1) e fovafaaed (FFameer), fae

(2) F forfemme, faed
(3) i foveifommer, smefem
(4) Wi fovfommerd, 9
Options :

1.1

2.2

3.3

4.4

Question Number : 42 Question Id : 53307219166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education Policy 2020 recommended moving towards.
(1) Suburban Universities

(2) Single discipline Universities

(3) Multi-disciplinary Universities

(4) Specialised Universities

Options:

1.1

2.2

3.3
4.4

Question Number : 42 Question Id : 53307219166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T foen Aifa, 2020 # fFAefafea = fom o o ae7 =1 fowf #31w oF
(1) IFRE foyafaemTa

(2) UeFe-foug oot favafaered
(3) wg-foudt favafaemaa
(4) oo favafemmera
Options :
1.1
2.2

3.3



4.4

Question Number : 43 Question Id : 53307219167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the public sector universities from the following that have the highest number of
collaboration with foreign universities.

(A) Indian Institute of Technology, Kanpur

(B) Indian Institute of Science, Bengaluru

(C) Pondicherry University, Pondicherry

(D) North-Eastern Hill University, Shillong

(E) Gujarat Vidyapeeth, Gujarat

Choose the correct answer from the options given below :
() () (8)(0 Oy

@ (B)(C) (D) Only
() (©) (D) (E) Only
(#) () (D) (E) Only
Options :

1.1

2.2

3.3

4.4

Question Number : 43 Question Id : 53307219167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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(1) A (A), (B) (C)
() A () () D)
(3) ¥ (C), D) (B
(4) % (A), (D) ()
Options :

1.1

2.2

3.3

4.4

Question Number : 44 Question Id : 53307219168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following come under the category of stand-alone professional universities ?
) Universities of Journalism
B) Law Universities
) Health Science Universities
) Technical Universities
) Homeopathy Universities

(A
(B)
(€
(D
E

Choose the correct answer from the options given below :
() (A); (B), (C) Only

() (A), (B), (D) Only

(3) (C),- (D), (E) Only

(4) (), (C), (D) Only

Options :

1.1
2.2



3.3
4.4

Question Number : 44 Question Id : 53307219168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafad § ¥ -9 s (¥E Tan) sraeremias fovfaemd 1 4o § o6 € ;
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Options :
1.1

2.2

3.3
4.4

Question Number : 45 Question Id : 53307219169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - 1
(Commission/Committee)

) University Education Commission (1948-49)
Sanskrit Commission

(A
(B)
(C) Education Commission (1964-66)
D)

(1954)

Committee on Higher Education for Rural Areas

List - II
(Chairperson)

() D.S. Kothari

(I) K. L. Shirmali

(L) S. Radhakrishna

(IV) Suniti Kumar Chatterji

Choose the correct answer from the Dptiuns given below :

(1) (A0, (BH), (C)-(ID), (D)-IV)
(2) (A, B)-(), (©)-IV), (D)-0)
() (A)-(I), BIIV), (CHD), (DHI)
(@) AHLV), (BHD), (C-(I), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 53307219169 Question Type : MCQ Option Shuffling : No

Correct Marks : 2 Wrong Marks : 0
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(D) (AHD, B)-(), (©)-(IL), (D)-(V)

(2)  (AHI), B)-UD, ©-1V), (D)-0)
(3)  (A)-(I), (B)LV), (C)-(I), (D)-(I)
4 (AHIV), B)-(D), (C(I), (DHII)

Options :
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1.1

2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072751
Question Shuffling Allowed : No

Question Id : 53307219170 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage and answer the questions given below :

Santiniketan attempted to produce a culture, which was Bengali/Indian in its construction and
approach yet significant to the modern world. In 1912, Rabindranath established an institution called
Ashram-Sammilani. It was a body of elected students with teachers in-charge to look after the functioning
of the school. Students” Unions are primarily concerned with student interest; they-or any other union,
for that matter-are formed to protect their rights against the authority’s misuse of power, There was a
court run by the elected student body. Whenever there was a complaint of any serious offence, the court
had its session with the accused in some quiet place after dinner. The Sammilani met twice a month-
once on new-moon nights, the other on full-moon nights. During Rabindranath’s long stay at Silaidaha
among the villagers he realised that only sel[—suﬂiciency, self-rule and self-respect could free our rural
population from their weakness, poverty and sense of inferiority; that it was society that should rule, not
the state imported from Europe, Srinikefan-Visva-Bharati's rural development,/ reconstruction programme
started in 1922, Rabindranath applied the principles of the co-operative movement to Sriniketan; and as
we know he applied it everywhere-equal respect for everybody, equal participation, equal distribution
of material and spiritual wealth,

Sub questions

Question Number : 46 Question Id : 53307219171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Main aim of Santiniketan can be stated as :

(1) To spread the culture of Kolkata

(2) To completely ignore the western influences

(3) To emphasize on a culture that was Bengali/Indian yet significant to the modern world
(4)  To focus only on the traditional folk culture

Options :
1.1
2.2
3.3



4.4

Question Number : 47 Question Id : 53307219172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Aim of Ashram-Sammilani was :

(I)  To function as a typical student union

(2) To talk about the student’s rights

(3) To look after the functioning of the school with a body of elected students and teachers
in-charge

(4)  To manage the financial situation of the institution

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307219173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

How often did the Ashram-Sammilani meet ?
(1) Once a year

(2) Twice a month
(3) Weekly

(4) Monthly
Options :

1.1

2.2

3.3

4.4

Question Number : 49 Question Id : 53307219174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What did Rabindranath Tagore realize while he stayed in Silaidaha ?
(1) Only education can uplift the society.

2)  Society should rule, not the state imported from Europe.

3

4) Traditional model of governance is the best approach.

) Industrialization is the major key to prosperity.

(
(
(

Options :
1.1



2.2
3.3
4.4

Question Number : 50 Question Id : 53307219175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What principles did Rabindranath Tagore apply to Sriniketan’s rural development program ?
(1) Centralized governance

(2) Industrial growth

(3)  Equal respect, participation and distribution of wealth

(4)  Personal growth over community welfare

Options :
1.1
2.2
3.3
4.4

Question Id : 53307219170 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 53307219171 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Wi 1 @A i el 1 Wehell ¢ -

(1) hiceRT i GHTd  ToR F

) UEI TET B W SRR

3) U U Gl W AE o @ e e 2 R o snefe fava & fo wewee &
) WY @ ST WA S H B

Options :

1.1

2.2

3.3
4.4

Question Number : 47 Question Id : 53307219172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
S9W - W 1 3299 o017
) Wl BEEE & B H FE
2) B % AR F 9 H a6 FA
) Traifea BB SR 99 el o e & @y faemed & 1 # a5
4) oE # o fegfa o1 yeeA W

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 53307219173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

sgw AfFET F S3E a9 g o ?
(1) =4 H TH IR

(2) TEH TR

(3) wrfesh

(4) \If9EH

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 53307219174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

facTrrge W 109 Werd & SR TeiEe | = weqd o ?
(1) foen | & gurst &1 Zeu 8 9 ¢

(2) HEN 1 ATEA S =1feq 7 foF 79 § aymEiad I |
3) ieifertmta ggfs #t 7@ e

(4) ITEA 1 WO Hiee IS IINTH 2|

—

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 53307219175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e SR A ke % e foerg s | o fagial @ s fem o2

)
3)  HHM S, WRiER! SR O 1 fem
) HIHEIaE FHeA o WA W T ferer

Options:
1.1
2.2
3.3
4.4

Hindi
Section Id : 533072252
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory



Number of Questions : 92

Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 533072752
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 53307219176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2. foorda % o1 an FreAr #i feradl Svsifern

(1) <H
(2) @@
(3) TWE
(4) e
Options :
1.1

2.2

3.3

4.4

Question Number : 51 Question Id : 53307219176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2. foerda & ST aR FreAr #i foradl Susifer ®

FA 3z

Options:
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 53307219177 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

" S1efa, FUSIgUTY] SEf-Tuite g 9T & - i 3 e fhe fagE A S R 7
1) G

2) died

3)

4) S FR
Options :

1.1

2.2

3.3
4.4

(
(
(
(

Question Number : 52 Question Id : 53307219177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gpeleT, STl sAf-gmte € o &'~ &1 ST i fory fogm A€ @ ?
(1) W=

(2) A

(3)

(4) T HHA
Options :

1.1

2.2

3.3
4.4

Question Number : 53 Question Id : 53307219178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e fasereR ez & STER uifa’ 9es st et ©

(1) TS > Tles > Tifed > qifed
(2) fe > dfd > it > qfea > difa
(3) U™ > gfeEmE > qiferdd > gt

o
(4) UIRT > 9Tk > WISTE > HisTd > i

Options :



1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 53307219178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fr=rd fayErEt Y= o AT9R ‘uifer’ 9es i gfd ©
(1) @ > 9 > ifes > qife

2) e > dfd > qfd > qfed > i

) 9 > gfeE™ > qifedd > qifd

(4) HIERA > RS > TITE > TI8Td > bifd

—

-~
i |

——

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 53307219179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafea § 9§ gFaeds o =1 TR

(1) TEEAEI

(2) oI @ E

(3) H WA, 5 W

(4) g =€ IRgW T G Gl 3TeI9 Bl |
Options :

1.1

2.2

3.3

4.4

Question Number : 54 Question Id : 53307219179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafea § 9 Heharels g =1 3R E

(1) TEEATI

(2) <%l @ el

(3) qH A, 5 US|

(4) Afc 9% 9Raw HTa a1 T A9vd Bl |
Options :

1.1

2.2

3.3

4.4

Question Number : 55 Question Id : 53307219180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@f i o & g # frafafea § 9 FF 91 F99 399 €2
(1) T forel 9T 7 oEed STEved SHE B £

(2) wafm H 21 aftads =1 vifer e T

3) W H eawareHss SHIEdT Hi SR 9gi Bl T

(4) wafl 1 yafa sraledeie a6 €

Options:

1.1

2.2

3.3
4.4

——

Question Number : 55 Question Id : 53307219180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 1 fopioa & gy # frafafes § 9 99 @ w97 o §2
(1) @& fedt a1 Say STEvey e ol ¢ |

(2) @& H 219 Titadd 1 v el T

3) W@ § ea=arenss WHHAl i SR Y9t Bl § |

(4) @ yafa safEaeie g €|

Options :

1.1

——



2.2
3.3
4.4

Question Number : 56 Question Id : 53307219181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘g’ STgaT % Hues frefofaa § 9 e €2

(1) e =g

(2) VA g EA
(3) A HEA fird
(4) ST TH HiET T
Options :

1.1

2.2

3.3

4.4

Question Number : 56 Question Id : 53307219181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘gHTR’ SRgaT & Hues frefofaa § 9 e €2

(1) =& =g

(2) VA gt EA
(3) AR A firs
(4) T IM HEA T
Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 53307219182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feferfea § sHH-H A1 SYaEd H T8 © 2

(1) TS
(2) wEa-faery
(3) SAmE
(4) THMET-FHT
Options :

1.1

2.2

3.3

4.4

Question Number : 57 Question Id : 53307219182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

feferfea § sHH-Hl A1 STaREd H T8 © 2

(1) THsTH
(2) wa-faerg
(3) ofmEH
(4)  THTI-RA]
Options:

1.1

2.2

3.3

4.4

Question Number : 58 Question Id : 53307219183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A feRae A R ?

(1) AR
(2) =S
(3) FRH
(4) Fra @



2.2
3.3
4.4

Question Number : 58 Question Id : 53307219183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) YHA=<
(2) =S

(3) PUIRH
(4) Fra @
Options

1.1

2.2

3.3

4.4

Question Number : 59 Question Id : 53307219184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TIHed Nie Fd SR o A § 2
(1) Head 1696
(2) Hed 1689
(3) Head 1698
(4) Heq 1692
Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 53307219184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Taed U1 Fa eSS o EEEY € 2
(1) Had 1696

(2
(3

3

)  Hed 1689
)  Held 1698
(4) Heq 1692
Options :

1.1

2.2

3.3
4.4

Question Number : 60 Question Id : 53307219185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘gefasTa ' A U REg e foeaa foman ?

,.‘

(1) war

(2) HedfHe =eH
(3) MO i
(4) favey fHe
Options:

1.1

2.2

3.3

4.4

Question Number : 60 Question Id : 53307219185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘gifaSE | A U TEeG e foRad T ?

(1) e

(2) HadlHs AeH
(3) MO Hid

(4) Tfovey fue

Options :
1.1



2.2
3.3
4.4

Question Number : 61 Question Id : 53307219186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S e # A awehe € e 5 i el @ w81 % o
BRER GRS

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 53307219186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S o g A e et € e v R & wd e T ) % ot feg
e # ¢/

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 53307219187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘anfe ofq s e g fafa ura <roE w21’ g% Ui feaat 2
(1)
(2)
3)
(4)

Options :
1.1
2.2
3.3
4.4

1§

Question Number : 62 Question Id : 53307219187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘anfe ot wifa e arg | fafa urar 9roE w21’ g% dfs st 22
(1)
(2)
3)
(4)

Options:
1.1
2.2
3.3
4.4

1§

Question Number : 63 Question Id : 53307219188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

S Y 1 T H o A S o feaf’ @ 9 S ot o e W O T -
e’ 1 % -7 %o Fr Sfemam w1 27




Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 53307219188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT T 1 9T o YA S o e’ € A e fgole) 1 S O i -
fefdl’ 1 & 1-7% o form 3l 1 €7
1) @9 file

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WgeE T R o ® |'-SieeE % e W e for foge s

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 53307219189 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Y T SR oG & |'-elisieTd o Hai ¥ 7% fore fog o1 aafirma € :

)
4) T w FAY T
Options :
1.1
2.2

3.3
4.4

Question Number : 65 Question Id : 53307219190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" e o T e, e oFCY SRS SR W Ho ¢, ) 4 foraw " v weqm g e
#ie!

Question Number : 65 Question Id : 53307219190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"4 e 9% T feq, T ST SRR SRy B W €, R ) e e e for e
#ie!

Question Number : 66 Question Id : 53307219191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"1 30 VIedid 1 e ¢ ol aru- e & o T 70 90 % B oA SRR i w9 o -
P FA A6 o o A fen

() W

R
(3)
(4) e
Options:
1.1

2.2

3.3

4.4

Question Number : 66 Question Id : 53307219191 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"1 30 VIRl 1 e & o aiu- e & au T T 90 €9 9 oA SRR e T 9 o a1 -
T T A o o A fem €

(1) e
o
(3) @
(4) we
Options :
1.1

2.2

3.3
4.4

Question Number : 67 Question Id : 53307219192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffafea o STa9m #en 1 IT9H €
(1) 3
(2) "
(3) Tefewn
(4) A
Options:
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 53307219192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fefafas # Sy Fen &5 U=y ©
(1) FW
BIESRE!

(2)
(3) fefewan
(4) T



Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307219193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" yifETs a1 g | 32 A g e T § 2

(1) TmyEE s
(2) T Feen @l
(3) HeH@ 1™ f9ER
(4) oY T
Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 53307219193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" yTfRars a1 g | 32 T T A T €2

(1) ImyEE s
(2) B9 Teen @l
(3) HSHE 1 T9ER
(4) o] <l
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 53307219194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



st e Sureama gfieity Fa ' faawerg’ 1 yewe a9 ©

(1) 1913
(2) 1915
(3) 1917
(4) 1914
Options :

1.1

2.2

3.3

4.4

Question Number : 69 Question Id : 53307219194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e oz Sureara gfieity Fa ' frawerg’ 1 yehwe 99 ©

(1) 1913
(2) 1915
(3) 1917
(4) 1914
Options:

1.1

2.2

3.3

4.4

Question Number : 70 Question Id : 53307219195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" sramEre faamdr sifvsisHER @ 9 g § g 3fE faaewy €2

(1) = Tr=%
(2) oRE

(3) == fHe
(4) THE=IIFA
Options :

1.1

2.2



3.3
4.4

Question Number : 70 Question Id : 53307219195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) =N 9=
(2) 3EE

(3) o= fHe
(4) THE= A
Options :

1.1

2.2

3.3

4.4

Question Number : 71 Question Id : 53307219196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" g fefefm =t wifs &<t =fam =1 v aAfas Im e sfe e
(1) s S

(2) = gEN AT
(3) =
(4) YU HrEd
Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 53307219196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



" o fefefm =t vifs &<t wfam =1 v arAfas Im e sfe e
(1) s S

(2) % gEr AT
(3) rE

(4) YU HrEd
Options :

1.1

2.2

3.3

4.4

Question Number : 72 Question Id : 53307219197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T A S, S F e I e AU TS el T8 A R I e
1) I

Options:
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 53307219197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS A § W, @ H ek S ¢ A1 Ied B 1 78 o R SO i E
(1) eT¥d
(2)
(3) forAm
(4) WE # FH

Options :
1.1



2.2
3.3
4.4

Question Number : 73 Question Id : 53307219198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

]

'{FE SUE R UT B 2

(1) %l o9 9 9
(2)  ATYRT S

(3) TFTETER]

(4) THH

Options :

1.1

2.2

3.3

4.4

Question Number : 73 Question Id : 53307219198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

]

'O I I U B 27

(1) %l o9 9 9
(2)  ATYRT Sl

(3) TTETER]

(4) THE

Options :

1.1

2.2

3.3

4.4

Question Number : 74 Question Id : 53307219199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Question Number : 74 Question Id : 53307219199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Options:
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307219200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt o ST T ) e el W | TR FortR o a1 W e 11" et % 3
T 7% fope F 7



Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 53307219200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tt o o & g s et e o 1| T e g A i o1 e % S

T 75 o] 9 2

(1) WeAHEA
() P
() e
(4) T
Options :
1.1

2.2

3.3

4.4

Question Number : 76 Question Id : 53307219201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3 1 fF0 FEFER F e 1 TahiE 76, s1isa e w1 S 9 8
(1) 9 s

2) g

(3) o7 T

(4) FHEH

Options :

1.1

2.2

3.3
4.4

Question Number : 76 Question Id : 53307219201 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

94 7 TR TR o Sl b e Tai, SAfsia il %1 e 7 & 7
(1) IR Sl

2) S
3) o FEA

(
(
(4) T
Options :
1.1

2.2

3.3

4.4

Question Number : 77 Question Id : 53307219202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

" 576 % WS H e W e ol | S-S < A olaeh 3 W | T e 6 T € 399 6 0%
W' 7 o o el | for €2

(1) SRR

(2)  foeent et T
() o
(4 T FA
Options :

1.1

2.2

3.3
4.4

Question Number : 77 Question Id : 53307219202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



6 % WS H e W e el | S-Sl S A oiaeh 3 G | T 7 4 T € 30 7 4R
oM\ 7% A 0w § T g

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 53307219203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'S - e fafre i o 1 S foforeen o g e - S AR
o T 1 o e i €, ] ot o feafe e v 2 30 €1 7 o o A A1
1) e fHe

|

Question Number : 78 Question Id : 53307219203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



'S 8 G- 3 e fefen i o o St fefireem o 1o e el S QR
o TG o o e e €, el ot o feafel e v 2 30 €1 7 o o R A
1) e fie

Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307219204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T et T S ST A o T 2 et | R fer iR A o o o v e
e 7 s FA ©7

Options:
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 53307219204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T e T G o ) o T 2 W | 9 For ol T a o o e | e
e o 7 fge T B

Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307219205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"SI HAST- Y-, A Tl 3ER |
ST YR TER Y, FO1 Hich e ||
I8 HIEAT=R] fHy A°F F1 € 7

(1) Hragesn
(2) St
(3) a1 arel
(4) UF R gromEE
Options:
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 53307219205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"SI HAST- Y-, A ol 3E |
hicd H TR T, FO FHfck S|l
g A= 559 A2 &1 € 7

(1) Yragasn
(2) S
(3) o =1 arel
(4) Tk AR o=
Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307219206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"R e o fer el Wi e o e e S g e e g 4 e
£l aﬂﬁ@ﬁnf—‘m’mﬁ%wﬁm%?
1

-2

gg%g

(1
@
()
4
Options:
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 53307219206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



" e o ferw et Wife e o e e B O e vew g ) e e
£l a‘»ﬁ@wﬂ‘m’mﬁ%wﬁmﬂ?
|

]

ggﬁ%g

(1
2
()
4
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘el 7 e 9 9 A ifa T gom guren
& trfe smafe 7, S <ge =1
Tefsig dfeear ‘ sfey T AeE F Y oiF H wE e e

(1 T
2 =
(3) =W
(4) B
Options:
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 53307219207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘et 7y 9 gfg AR Aifa T gem g

d tafe e 79, 9 =" T= 1)

Gefsig dfear ‘ sfey T AeE F Ry oiF H wE | e
(1) Tk

2
(3 =R
(4) Ba
Options :
1.1

2.2

3.3
4.4

Question Number : 83 Question Id : 53307219208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

' e orefar e e o foem 8 €1 o o o 3 o 3 e € T arer @ 6 -
O £, 30 2 e 21 9 o v e A fom e 7

(1) ST

@ W
() &3
(4) #H-a
Options :
1.1

2.2

3.3
4.4

Question Number : 83 Question Id : 53307219208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



' e Tl e e o fovem 8 €1 iR oft o 5 R R v € it o o - €
SO £, 30 2 1 1 oo v e A o 7

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307219209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"R S e H S | T WO o W §, o) ST o aged § 96 9 # 9  weh
¢, o0 S0 5 STEa o 0o e 1 T § v §1' 7 e for fe @ o €7

Options:
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 53307219209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e S e S 1 T RO o e G, 9 YRR & aTed W T A o v
¢, Tl S o5 SMEa o Wy e 1 W S W €1 7 i o ey @ o §7

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307219210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘fraty H gITATE o 1 T 1 wo T ¢ ferenfeme fag ' | 7% e form Sfemam 1 %7

Options:
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 53307219210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ety ¥ TS feaet a6 o i e T % ot g 31 o o o s &2



Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 53307219211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1) FE™ T
(2) ©RT R HE
(3) faa=t 1@

(4) Taentremy g
Options :

1.1

2.2

3.3

4.4

Question Number : 86 Question Id : 53307219211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

(1)  FeEE T

(2) T HOT HeS
(3) faa=t 1@

(4) TaEnHemy fHg
Options :

1.1

2.2

3.3

4.4

Question Number : 87 Question Id : 53307219212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafafea § -ar fe fadesm 1@ #1798 §2
(1) et =1 gfn

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 53307219212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafea § -1 fes faees 1@ 1798 82
(1) et =1 gfn

Options:
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307219213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

' A 3 forva 1 S 7 2R O, S G 0 | T el 3 € e § e e
% v fore e o feren T €7



Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 53307219213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

' o o e o e o 2R o, S A o e R o ) g o o Fe €1
% v fore e o foren T €7

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 53307219214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T g 4R ARIEHOR T4 & TR A FS FAE FOEEY ' T 9w e ae &
T 1 S A S (o R § geferd for 7
I 3 fo

Options :
1.1
2.2
3.3
4.4



Question Number : 89 Question Id : 53307219214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR g S B T & e o HE FER EEY ' 6 A ded el F
O S A S o T SRt fon €7

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 53307219215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘Fie-He & o’ Ry fawn 1 @ 2

(1) St
(2) ARl
(3) HEHTO
(4) @i
Options :

1.1

2.2

3.3

4.4

Question Number : 90 Question Id : 53307219215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘Hie-TS ¥ &’ R fasn = €2
(1) Sfiet
(2)  SACHRH
(3) HEEO
(4) Eraa
Options :
1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307219216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<o fafd gum & way | wfeq geel #1 Tect & e % W H Faftd Fifeu)
(A) TR foee gr 190 2RY 1 We TR fF T

(B) 3 We¥l TR gR1 ' ferfy Qum wiwg' o e fohen |

(C) T wifeca wier & s aifeereM # AR faifa gem wfufa & e fean T
(D) ST 7% <9 F Seasa § A fafy guR gt s

(E) T gefoft W g AR foaf o g &g |fnfd 1 Te |

= few 7 forredi 9 W SR H = R :
(1) (A)(©), ), D), (B)

(2)  (A) (B), E), ©), D)

@) () (©), (D) (E), (A)

(4) (D) (E) (A), (B). (O)

Options:

1.1

2.2

3.3

4.4

Question Number : 91 Question Id : 53307219216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST faft Qum & gy § wfed TRl i wedt § a1 % % § e #ifag
(A) STERTMER foee 3R 190 2139 1 e A fopan T

(B) 3 Yo R gRI ' forfa G witwe’ 1 e feben T

(C) fe=t wifeca Teiem & 3R sifyavm # A forfa gem wffa a1 e feren o)
(D) STer T <3 i aeaea ¥ A fefy gum i & o

(E) T qio w1 g AR foafy o g &g |iHfd %1 Te |

1 feu o fomredl 9 9 WE 3T F T Sl

(1) (A), (©), (E), (D), (B)

(2)  (A) (B), E), ©), D)
) B), (©) D) (E), (A)
(4) (D) (E), (), (B), (C)

Options :
1.1
2.2
3.3
4.4

e —

—

Question Number : 92 Question Id : 53307219217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

= e Y & ge # frefafaa weri § @ ae weE § 7
(A) TH HETEafa SR gL F IH H SHericad Fel o |

(B) WM iR SHeATe i S=eerd 1 faum e o

(C) i =t aramashal sTaifed 2|

(D) I % |1 A1 6 off TR g €

(E) HTEMR H SE-S1Te gl e aTct U5 fermdfd =1 319 el |
9 feu Tu fasedl § 9 Wer ST 1 T4 HifeC

(1) < (A), (B), (D)

(2) I (A), (B), (B)
(3) 5 (B), (D), (E)
(4) %9 (A), (B), (©)

Options :
1.1



2.2
3.3
4.4

Question Number : 92 Question Id : 53307219217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A e Y & g § frefafad e § 9 We w2
(A) T H wETEAfd 3R gL F U9 H SHaicad Fel o |

(B) HIeieT 3 SeiTen ol STlcaid o1 faem el o |

(C) i =t SaFasharl sTaaifed T |

(D) M % W1 HiE i ok e B

(E) QENR # STe-s1e gfie % arel ye faarafa 1 a1 76 2

T feu v fasmedi § | W& I FH T FIET
(1) = (A), (B), (D)

(2) %9 (A), (B), (E)

(3) = (B), (D), (E)

(4) A (A), (B), (O

Options :

1.1

2.2

3.3

4.4

Question Number : 93 Question Id : 53307219218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefed e FeAmied F1 9 a4 & 76T Tl § 915 & FH W oefed Fi ;

7 feu T fomed & | W 3 A 79 Hf

(1) (A), (B), ©) ) D)
2) (A), (®), (D), (C) £
3) (), (C) (D) () (A)
) )

(
( (©), (D), (E)
(4) (), (D) (E), (©) (A

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 53307219218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el vt FeAmfed #1 99 99 % S8 Teol § 915 o H i HI ;

A feu T foemed % 4 Wl 3 F T FHIC :

(1) (A), (B). (C), (E), D)
) (A) (), D) () E
@) (©), (©)
(4) (8), (D)
Options :
1.1

2.2



3.3
4.4

Question Number : 94 Question Id : 53307219219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T, Sy #1 Tk 91 YW 9 % SFOR Yed § 9% % FH H SHafyd Fi ;

E) fe fifagey s foeed ffefasw

(), (B), (C), (D), (A)
D), (B), (O, (A), (E)
D), (E), (€ )(]:(f
(4), (©),

O
@

E)

Question Number : 94 Question Id : 53307219219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e, ey 1 gkt ) TAE A & STER Teel ¥ a1 % W H oy Ff

e fe U fersedt ® § Wt S 1 = Ho :

(1) (B). (B) (C), (D), (A)
() (D), B), (©) (A) (E)
3 (D) (E) (©) (B), (A)
(4) (A) (C), (D), (B), (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 95 Question Id : 53307219220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ffefaa e A=l ol FTehR AT SFaiyd i ;
(A) ¥T&EHEL

(B) ¥=

(C) sAfTerT

(D) ¥

(E) ®iTH

= feu 7o fasredi § 9 W& 3 & =91 FHifA ;

(1) (A) (B), (E), (O), (D)

(2)  (B), (A), (D), (O), (B)
(3)  (B), (D), (E), (O), (A)
4) (A) (D), (©), (B) (E)
Options :
1.1

2.2



3.3
4.4

Question Number : 95 Question Id : 53307219220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefiad SFTeaumeig Ar=ral ol FCThHIFER SHafed hifed ;
(A) TE¥L

(B) ®ge

(C) SATerT=

(D) Wi

(E) uf®

9 feu o fasredi § 9 Wel ST &1 9949 FifeU
(1) (A), (B), (E), (O), (D)

(2) (B), (A), (D), (©), (E)

(3) (B), (D), (E), (O), (A)

4) (A) (D) (©), (B) (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 53307219221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g9 il T % o § gt fefafen e @ FOTeR a8 8 T & FH § o
I :

(A) i foferam iersl 1 T

(B) I W e 9 WG] I

(€) T % e THTER W 347 WS H WA

(D) TSl et BT TR 1 T

() T o e Foe fe g1 o STt 21 e

Al e U foreredl H 9 W I A T
(1) (A) (B), ©), (C) ()

(&) (A) D), ), () (£

(3) @), (4) ©) D) )

@ (©, (B) (A), D) &

Options :

1.1

2.2

3.3

4.4

Question Number : 96 Question Id : 53307219221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T4 A T F fom § g fefafan seel @ FesEeR a8 § T & #W § e

IE

(A) i foferam ersl F1 T

(B) T ¥ e e HTER] H

(C) T % Tee WHTER W 30 WAUE H TAH

(D) TSl el G YR & T

() T i e e fo 1 o STt 1

7 feu o ol # 4 W S T

(1) (A) () [O) (C) ()

2) (A) (D), (), (B) (E
(

( (E
() (), (A) €, O) ()
@ (© () (A) D) (&

Options :

€
©, D)
(A). )



1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

STV THIE % FIA-HIEI ] HICHHHR Saferd hifs
(A) YH9IE

(B) =

(C) oA

(D) g

(E) ShTHTEAT

= feu o fased § & W& s F =7 Ff

(1) (A), (B), (D), (C) (E)

(2) (B), (A), (©), (D), (E)

) ), (©)
(3)  (B), (A), (O), (B), (D)
(4) (A) (B), (D) (E) (C)

r
,

Options:
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 53307219222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR UHIG o FHIA-HURl Pl FISRHTHN SHafEed ity ;
(A) YHafgeR

(B) =

(C) ==

(D) g

(E) <RTHIEHA

A feu T ferredl ® | W& ST A =51 il
(1) (A), (B), (D), (C©), (E)

(2) (B), (A), (©), (D), (E)

(3)  (B), (A), (©), (E), (D)

4) (A). (B), (D), (E), (O

Options :

1.1

2.2

3.3
4.4

Question Number : 98 Question Id : 53307219223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Taeid TSt FRIe & Fe-HUel 1 YERH oY & AR T HafEd I ;
(A) TitferRT

(B) T

(C) &=

(D)  &fomT

(E) FPH

A9 feu o forredi B O WE S F T FifT
(1) (E), (A), (D), (B), (C)

2) (E), (A), (©), (D), (B)

(3) (A), (), (D), (C), (B)
4) (A) (E), ©), (B), (D)

Options :
1.1
2.2



3.3
4.4

Question Number : 98 Question Id : 53307219223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i Fruret e % Fe-TUel 1 YERH a4 F SUR W AT HIf ;

(A) TitferR
(B) T
(C) &=
(D) ST
(E) P
99 feu o fasredi § 9 WE ST F T FIf0
(1) (E), (A), (D), (B), (O)
2) (), (A), ©), (D), (B)
(3) (A), (E), (D), (C), (B)
4) (A), (E), ©), (B), (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 53307219224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e faram e @ frefafea e #1 ed § 9 F %9 H e
(A) o =R a1 @ g&, fae T of e

B) R IR disw & & fore Tt Aife &=

(C) = feaw of W3 <, gt T o i@

(D) e 9 *e3 Hewe, € 9! € &

() T€ T IR ¥R %, Fel Tk ‘ot | 3eE’ |

= fou o fawedi § 9 W& T F 92H Fif6

(1) (A), (B), (D), (O) (E)

2 (B), (A), (D), (E), (C)
(3) (B), (A) (E), (©), (D)
@) (A) (C), (B), (D), (E)
Options :

1.1

2.2

3.3

4.4

Question Number : 99 Question Id : 53307219224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘ATl foram we' it fefafEa dfeeEl 1 Tee | a1 % % H e
(A) o =R a1 @ gE, foe i of e

B) R R G 3w fovg & wife < |
(C) o7d feaw ufi I3 o, @R 94 foa i@ |
(D) fire i g3 Hawe, € 4! € !

(E) T8 71 IR BR %, Fel Tk ‘o | 32’ |
A= feu T foreredl § @ B W F = HIG ;
(1) (A), (B), (D), (C), (E)

2 (B), (A), (D), (E), (C)

3)  (B), (A), (E), (©), D)

@) (A) (O, (B), (D), (E)

Options :

1.1
2.2



3.3
4.4

Question Number : 100 Question Id : 53307219225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘orka’ e W i Ffafea ofse 1 e @ 9 F %0 § oafe S
(A) &0, = U T ? I H AW AYF W

(B) e q ot wel o

(C) WG wf<T ¥ wdl, ufd 1 yfawn o9

(D) HfE e i Ser & & drven Sl St @

() o 94, 4 @ 31

A feu U fosed # | W& W F 9 FIC ;

(1) (A); (©), (B), D) (E)

A), (B), (D), (Q), (B}
, (©), (D), (B)
(©) (B), (A)

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 53307219225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"ok’ om o i freEfefEd R  gee ¥ 9 % wH | et i ;
(A) FE0 F A E? IR H SN A W

(B) dgd q ot wel

(C) wHg wi<T ¥ Tdl, fd =1 gfamn 49

(

(

e feu T forehedi W & W I F = HC
(1) (A)(©Q), (B), D) (E)

(2 (A), (), D), ©) (B
(3) (), (A), (©), (D), (E)
(4)  (B), (D), (©) (B), (A)
Options :

1.1

2.2

3.3
4.4

(
(

Question Number : 101 Question Id : 53307219226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T AR 3R § 3GR 3 i A et & o o W W g i

(A) TR F TR STeH-Fe e o #e T 4 fo6 78 w7 9 9w @ @ e

(B) Fft-woft Siavaren oft g 1 AN S 1| e e, | g b AW S € 7
(C) Fad, T @RI T e § o e €

(D) TFIY 38, '3 TR T WA €1 S-S ettt e €1

(E) et e %1 9 3 T €, T o1 7 6, 99 < 7 GRIT o ) S ¢

e few T feredt o 4 T SR A T I

(1) (A) (), D) (E) (B)

(@ ®) () D) (A) B
(3) (&) (D) Q) (A) ()
( (

4 ©.(4), D) (B) (£
Options :

1.1

2.2

)
)
)



3.3
4.4

Question Number : 101 Question Id : 53307219226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T T ST H 3G 7 i 1 Teel § A o 5§ el it

(A) AR F TR SH-Fe Fer o #e T 4 s 1 e 1 g o A @

(B) - Siaaren it ST o1 A A o1 | g e, | 3 T B A A ¢ 7
(C) FaI TG EE @ TP e § fogd e €

(D) THIY 3 F8, "3 TR T YR €| -l Terfeal e €1

(E) formsh i =1 o R & €, T offg A T, o7 S 7 <RI o el o ¢

7 fou T fosred o 9 W& I 1 T FAC

(1) (A)(©), (D) (E) (B)

() (), (C) (D) (A) B
@) (), (D) (©) (A) (B)
(4 (© (A) D) () B
Options :

1.1

2.2

3.3
4.4

)
)
)

Question Number : 102 Question Id : 53307219227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafigd Fem fon offee ST ¥ €, 3 %1 o ST79R SAaftad it ?
(A) FEEPH F G

(B) eTd-=erd I e

(C) rafe # T w

(D) R T A FH

(E) 3Rl S &l {4

e fe o ool W 9 W S = e

(1) ), (D), (©), (A)
2) D):{)( , (B

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 53307219227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafEa wem Ten iaa ST ¥ & 3% %W & S8R A it ?
(A) EE DM H G

(B) eTd-=erd G e

(C) fafé # TR

(D) R @A FH

(E) 3ot < <l B

e few g ferepedl o 9 W S H = HI(
(1)  (B), (D), (©), (A)

(2) (D) (©), (A) (B)
@3)  (B), (O (A) (D)
(

) (
4) (&), B). (D), (A)
Options :
1.1
2.2



3.3
4.4

Question Number : 103 Question Id : 53307219228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"o o & ' T A ST e e A o 3t T forn &1 39 3R @
A) e 72

e few T oo H W Wt IR A T H
(1) (A), (B), (), D) )

@ (A),(C), B), ), D)
() ®), (C) (A), E), D)
() (), (4) €), D) )
Options :

1.1

2.2

3.3

4.4

Question Number : 103 Question Id : 53307219228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



"opfer P € 7' e ) T e Y A o sy § faoif fn €1 o Swie
(A) T e

(B) 9N % SO A Hew
(C) e ¥ =T
(D) a1 1 T
(E) oM W AA=R

7 feu o fomed o | W 3 A T Ffo

L) (@A) 6 ©), O)
@ (4), ) ) E), D)
3 ®),(©) () E), D)
@ ®) A0 D) E

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 53307219229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafes srersanedl i yeheH 39 & R W 9ed F19 ° SFafd Fif

et e T ferpedi @ 9 W S F1 = FIE ;
) B, (© (A), ®), D)

(2 (B), (©) (A), D) (B)
(3)  (E), (A), (C), (B), D)
(4) (E), (A), B), (©), D)
Options :
1.1

2.2



3.3
4.4

Question Number : 104 Question Id : 53307219229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frferfiga semsrenal 1 g o % MR W ged F9 H srafie Fife ;
(A) T Wi el H SHor-F

(B) TSi= YHRE & ' HAHeRT’

(C) I VATEE 34 Fd WY A el

(D) WS TifeEerd i * STeATIe &’

(E) SN & S o ‘s’

A= fou g forredl & 9 W& 3T F =TI FC
(1) (B, (©) (A), (B), (D)
(2)  (E), (C), (A), (D), (B)
3) (E) (A) ©), (B), (D)
(4) (B, (A) B), (), (D)
Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 53307219230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



eREIRI =1 1 SR < Vel ol YehIIH FY ok STER Hafied Fifa :
(A) e & fmio e
(B) = Y&l 1 IR FE
(C) THAF
(
(

D) Yarg & EEd
E) SYER 4§ |9 %
e feu e fosmedi & | W ST A = Hif
(1) (B), (A), D), (), (E)
(2) (A), (B), (D), (O) (B)
(3)  (A), (B), (O), (E), (D)
(4)  (B), (A), ©), [E), (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 105 Question Id : 53307219230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

EREYNT =37 o SR <k US| okl YeRT9r Y ok STTHR SHefted Hife :
(A) s & fmi e

(B) N el IR FE

(C) THAF

(D) Warg &l EEd

(E) T¥ER | HIOH 7%

et e e ferpedi @ 9 W S F1 = FIE ;
(1) (B), (A). (D), (O, (E)

(A), (B), D), (C), (E)
(A), (B), (©), (B), (D)
(B). (A), (©), (E), (D)

! s {
/|
Options :

1.1

2.2



3.3
4.4

Question Number : 106 Question Id : 53307219231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafiea § @ &9 9 fagia amo i 3cafa § defua 76 ©
(A) Te=raafa g

(B) Wit fagra

(©) Ye-gefaga

(D) gweE fHgd

() g= fEgid

= feu T foskedi # 9 W& U F =G Hio:
(1) I (A) 3R (B)

(2) ad (B) R (D)

(3) A (C) S (D)

(4) 9 (B) 3R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 106 Question Id : 53307219231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefafaa § 9 %M 9 fagia w1 scfa § geifea 7@ @

(B) wriiferr fagia
(C) T&-TeTHsi
(D) 9wt faga
(E) g9 fagid
= few U forred § @ WA IR F 9@ FC
(1) 9 (A) R (B)
(2) 9 (B) R (D)
(3) @ (C) ¥R (D)
(4) <RI (B) 3R (E)
Options :

1.1

2.2

3.3
4.4

Question Number : 107 Question Id : 53307219232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfafas o 4 wirdt fafa = fogma =7 €

(A) TS T F = H 2R fowat St 2

(B) &St | Uil Sl HEA FAA 30 € |

(C) TSt -l 1 T eafal 1 sifehd e § T0e T
(D) TSl T HgFIaR fora =1 g 78 2

(E) w3 ® Tl aen Aransti # g5 aen < 6 9% T ¢
= feu 7o fasredi § 9 W& S9T #9949 Hife:

(1) = (B) 31 (C)

(2) W (A) 3R (C)

(3) A (O) 3R (D)

(4) I (D) R (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 53307219232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafeas § 4 wirdt fafa =t fasem 72 2

(A) TS T F = H 2R fowat St 2

(B) &St | Uil Sl HEA FAA 30 € |

(C) BRSS! SAE-9T91 1 GHE Al 1 sifehd 4 H 999 © |
(D) TSl T HgFIaR fora =1 g 78 2

(E) w3 ® Tl aen Aransti # g5 aen < 6 9% T ¢
e feu o foredi H 9 W& SHT 1 =T FHife:

(1) ¥ (B) 3R (C)

(2) A (A) IR (O)

(3) ad (C) ¥R (D)

(4) 9 (D) 3R (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 53307219233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



s e suerm eftely & dey o frefafeas a1 $99
(A) TEEFS ITAM H TS H T A

(B) <3 T o1 B2 Ha ITAM i A1 &kl ot
(C) 1= ok TMifared i =1 =1 i

(D) THeH ATk Yo% Fred i TA1 i of

(E) #foeHl IR A12eh i 1894 H =1 &l of
i fou T faspedi # | Wel S9T 1 99d Hie;
() &= (A), (B), (E)

(2) %ad (A), (B), (O)

(3) A (A), (B), (D)

(4) %@ (B), (O), (D)

Options :

1.1

2.2

3.3
4.4

Question Number : 108 Question Id : 53307219233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

s fde Smear el & gay § frfafes o w9 ©
(A) TEEFN ITAMH H T 6T T F i

(B) o3 f&=1 1 B3 M ITAM i A1 &l ot
(C) 7= 9 TMifaed sl = & &

(D) THeM T Ja=4 1A & T=A1 i o

(B) wfeet fi=ra -eek &l 1894 W =1 &l of
A feu U ferredi H 9 W& 3T 1 =T FHifo:
(1) = (A), (B), (B)

(2) A (A), (B), (O

(3) <A (A), (B), (D)

(4) A (B), (O), (D)

Options :



1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 53307219234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e’ figha & gy § Frffafen § 4 R 9 o o €2

(A) SIS A Fe T TR G H e o o e 7% e fee v & ekl € o e
Ekd

(B) T 3 e o W ot fafime, @) o o £

(C) @A T TR T T e Sl ¢ FoTew W W Ao SR o o 9 e e
7 e, form Wi, Weew ek, W o eft e & o €1

(D) THic T 1 Voo & S 7R €, ) o ferd Ko B oo § A% W ¢

(E) e 3 01 2 foeTees oo %1 e T 1 Tiaeat o €

4 fou o fomredl 7 9 W8 S A T Ff

(1) %A (A) 3 (Q)

(2) ¥ (C) 4T D)

() @ (B) 4R (D)

(#) %A (D) & (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 109 Question Id : 53307219234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘e firgia o Hay ¥ fvforfin 4 R ¥ P o €

(A) eI A Fe T TR G Y e o o e 7% e fee W & ekl € o e
Eikd

(B)  aHicifea 3 e o W oi fafime, 2 o R £

(C) & T TR T T e 3l ¢ (T ;Yo A9 SR o o T v e
T e, ferem i, e e, e o woft e 21 910 €

(D) Hietsl T 0 Wfoen & S W €, S AR e e 1 Fo § 9% 9 €|

(E)  ieftst 3 T o1 foererek e 1 Tt e F foea o g

1 e T fopedl o 9§ W@ I 1 7 HC

(1) % (4) 3 (O

@) % (C) ¥ )

(3)

)

Options :

1.1

2.2

3.3
4.4

Question Number : 110 Question Id : 53307219235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefd & 9 oo FYVF F Tea Fio

(A) 3 T % feru g & S A 4

(B) 3 A et T P 1 R A A A fow g

(C) w1 fomm & o ) o1 e oy el v 2 <

(D) e B S 1 T T o Form A |1 o Ferag TG A S T
(

E) S 1 W01 ¢ o forfl afi-ferm o i) 5/ 751 . Foq) - oo, o1 e &1 1 9kl
gl

7 feu o fompedl ¥ 9 W I 1 T e
(1) A (A) 9 (B)
(2) A (D) ¥ (E)
() AT () 9 (D)
(4) % (A) &R ()

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 53307219235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frefefd & 9 oo FYVF F Tea Fio

(A) 3 T % feru g & S A 4

(B) 3 A et T P 1 R A A A fow g

(C) w1 fomm & o ) o1 e oy el v 2 <

(D) e B S 1 T T o Form A |1 o Ferag TG A S T
(

E) S 1 W01 ¢ o forfl afi-ferm o i) 5/ 751 . Foq) - oo, o1 e &1 1 9kl
gl

7 feu o fompedl ¥ 9 W I 1 T e
(1) A (A) 9 (B)
(2) A (D) ¥ (E)
() AT () 9 (D)
(4) % (A) &R ()

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307219236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fefin & 4 form swmamg o o fer el a1 e’ e o A e g v § fo
&7
(A) FEH
(B) T
(C) forerm
(D) el ¥ 7
(E) &N
A feu T ol o 4 W& S T FC
(1) % (A) 3R (B)

7 D)

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 53307219236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frwaffiam & e T 3 o fere ' el o e’ e 7 e e gy e o
g7

(A) W

B)

(C) o

(D) el ¥ 7
E) W4T

4 fou T fomred § B S 1 99 i
i) W(A)M)

( D)
) @ (Q
(4 % (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307219237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frrmfefea 5 #M 1 350 forriam’ swm &1 87

(A) e feamem %@ - 78] agE-ae T, WeR-He A Tl T of e of
(B) AT PN &7 AN WAL T 2R A SR A H Yo A o
(C) et 3T wwe foon dmi ot fop ot et o o s T s TR @
(D) WA & T-Te 1 ST o - B T |

(E) oMl Ir-2e & 2 SAafindl %1 el SATe &Il € e 2

9 fou o fored o © e I A T B

(1) A (A), (B) D )

(2) (A), (), (D

(3) Q). (D), (E )

(4) B), (C), (D)

%”%”%V

(
(



Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 53307219237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frrmafefian & i o1 g fareriier’ 3=mg 1 &7

(A) R feemR %@ - 72l AgE-ae T, WeR-He AT T of s el of
(B) oM 7R PN Fed &7 AN WAL | H SR A SR T FY UG THA o7
(C) et T | g fon i 1 fop et Tt & fer s e g T E
(D) W @ H-TE 1 S o - TY-E T |

() forl eH-Tee & 92 STefirdl o el o e ¢ el /

9= fou T fosredl § T WE I H T e
(1) o (A), (B), (D)

(2) % (A), (), (D)

(3) % (), (D), ()

() % (B), () (D)

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 53307219238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I A H W B W R 39w o el 6 R 82

A) T @ TS B, THIG F A 0 o 92 Hied & 919 @
B) W W 91 I8 §al YA @I U1 HeEd 39! Wl 3ufeufa 1 99 7 41
C) W =1d & we=H for |

) T 3 B2 FW T TEIER SO HeIg e ool |

() T uren sH T E 1 A F e F A |

(
(
(
(

%mwﬁwﬁﬁﬁﬁmmwﬁmz
(1) % (A) 3R (B)

(2) %dd (E) #R (D)

(3) %A (B) 3R (D)

(4) Fa4 (C) M (E)

Options :

1.1

2.2

3.3

4.4

Question Number : 113 Question Id : 53307219238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I FA H F B W R 3w o' el o R §

(A) e @ 9 B, THE H e 501 o T2 Hed & 'Y T |
(B) H &L H o2 9 Ha | I A1 HWed IR WL 3utefa 1 FH T o
(C) 9 W FI 31d & A foran

(D) N 3HY BRI-92] M AR THIAHN IGeh! Folgl Tl < |

(E) ¥ e S T E | FH STHA F G FT A |

= feu 7o fosmed § ¥ W@ SR F A Fifo;

(1) % (A) 3R (B)

(2) ¥@@ (E) 3R (D)
(3) ¥Fa (B) 3T (D)
(4) ¥ (C) 3 (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307219239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

< 1 T e 3 T H T A Y T

(A) T3 A 3 T R W ¢ 79 1 qrd H T o T Sl AT o S g 7

(B) # T e o 35 Ffem F1 AF- T R W IF © 1 T & 9 vl B = fowm o)
(C) "% Wel @ ¢, Wea | ol T o g

(D) ! g T aie & o A o o ot o | S o 9 o |

(E) foeramt i - 72 @ 9 T 9 fo o e e 4 K © o, W

A= few o feered 4 WA S A T A

(1) % (B) &R (C)

Options:
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 53307219239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A %1 A Fer A TG FA T FF Y R ¢

(A) T3 I % T g T & 79 a1 el 1 a % i 33 A of Sl @i 2

(B) ¥ e e fo 39 afem 1 -9 7 R W 9E ©1 Ve € a9 vl B 9= foR o)
(€) "R E T e § T LW

(D) ! QT Sie are ot o o e ot o | g I o o o |

(E) foemamt o - 72 i 1 T 92 fo o el e @ 7 & SR,

e few T fomredl # 4 WE S H T Ffo0
(1) %8 (B) 4 (C)

(2) % (B) 4R (B)

(3) % (D) R (A

(4) HT (A) B (B

Options :

1.1

2.2

3.3

4.4

Question Number : 115 Question Id : 53307219240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Freffeifia -9 o =0 o R T e T 7

(A) & HeAafe A =Ted @ 41 %% ? T W el A ¢

(B) WA ST e oyt il TR e € W S AW 9@ F ot s & e
(C) Fi-gr zea & & aeft e o Sfer 38 ¢ 1 wheamie &7 €

(D) & SN 1 fPIeA S SR €, Tl A ST €

(E) 3 3ifow §wa H o #4179 T Ted @1 2

e fou T foepedl # § Wl ST A T FIC

(1) ¥ (C), D) (B)

() % (8) (C). (B)
@) @ (A) (C) (B)
(@) @ (8), (D), (B

Options :



1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 53307219240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

rrefefian & -9 o TR o GR T e T 7

(A) e HA 7R =T B A 95 7 T W A A ¢

(B) A AU Geferel § Welt srifd WRfed Tl € Y I A 7 § off S g Aev
(C) T-gR 2201 & &R aAoft 3 o §fer 38 37 o1 Wieare % 2 |

(D) &N & FRT T T €, TS S A €

() 3w sifaw wwa # o #1 8 H ed 217

= feu o fomed § B Wl I F 9 e
() & (C), D) (B)

(2) % (B), (C), (B)

(3) & (A), (), (B)

(4) & (B), (D), (E)

Options:

1.1

2.2

3.3

4.4

Question Number : 116 Question Id : 53307219241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e & e Frefafad | 8 B G F o €

(A) Tt ST e 8 TR Y H T & SRR SR e ¢

(B) oA H FHRia fqute o Sfwiaa - & g 57 1 o €|
(C)  TIHROERN SR G Heed 1 Hed Jafiel § ferert & s 2

(D) . 7% 3 e i F R |

(E) hfd % $Yfd % QEROTH 1 A ol Hied 9o Freronferl | w9
7 fou o fomredl # & AW e I H T FC

(1) e (A) 3 (C)

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 53307219241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 3 T 1 s ¥ 8 B A o §

(A) Tt srmymn el 81 TR w9 H T 2 HHROGR EUR e ¢

(B) A H HIRiH fqurte % Hiwiaa - & G 5795 H & ¢
(C) WIROERN SR G Heed 1 He Jaivel § ferdert &1 S 2

(D) %L 7% 3 e o 1 YRR e |

(E) fd 3 34fd % TR F1 A= Yo Gied 99 FreAonie | =6 56H H B
A fou o ol W ¥ Wad S0 I A T FI

() @ (A) 3 (Q)

(2) %

() ¥ (D) T (E)
(4)

Options :



1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 53307219242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e o e § Fefeifan § 9 e oo A TR

(A) T TR 1 FF ST B N T, T RO AR 2 2

(B) I W AR Ao A - B op w9 A Y A o e a, w ww
ST 2 2

(C)  Hroafeim ercrermt # foreh arfees T 1 fowt iR S Y % 1% 0 1 R 9 el et
@l

(D) T STSRGA 1 U T T 1 A S S, Y S TR g €

() T 3w ol YR it < o i ond-fien o fova-pfefer o @), o seem
ST T T |

1 few o ol 9 W S 1 A I

(1) 3 (B) & (D)

(2) %A (B), & (A)

() I (C) & (D)

() % (C) 4 (E)

Options:

1.1

2.2

3.3
4.4

Question Number : 117 Question Id : 53307219242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e o weol B et § 9 e oo A T i

(A) T TR 1 T ST B F T, T TR AR 22

(B) I U AR o A - B 3 w9 A Y A o o T, W v
BEREGI]

(C)  HroAfcin afcier H forel avefer: T 1 feRt AR SR Y % % G 1 S I el
H

(D) T AW 1 o e e 1 ] ] T, ) R I g €

() T WA ol 3yWR gt § o i end-i o fova-pfefer @ o @), o e
BRENR:E i

1 few o foed o 3 W8 S A1 T Ffo

(1) % (B) T (D)

Q) @ (B) 4R (A)

() @ (C) ¥ (D)

@ = (C) 4 (E)

Options :

1.1

2.2

3.3
4.4

Question Number : 118 Question Id : 53307219243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fofeifig & 4 3 9 FoH TR £ ?

(A) Trere T 20 ¢ T TRl AR o o T E WG ¢

(B)  fuere ae STi-Forell 1 Tl &A1 &, ool U e § 361 e el & W ¢

(C) e forva 1 Y@ S WV € 90 9F T 1 AN o O 3 i He i
ol 93 2|

(D) e T Wel &t & e foll o1 fowin v e e 21

(E)  Shewl 1 G T ST e 7 W e @ et el ok feefed o sedta feraferi §
tl

el U T foehedl § 4 WE S o 5 I

(1) o (A), (B) 4R (O

@ % @) () (D)

() % B),(C) &% (B

(&) (B) 3 E)

Options :

1.1

2.2

3.3
4.4

3
4

Question Number : 118 Question Id : 53307219243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fofeifig & 4 3 9 FoH TR £ ?

(A) Trere T 20 ¢ T TRl AR o o T E WG ¢

(B)  fuere ae STi-Forell 1 Tl &A1 &, ool U e § 361 e el & W ¢

(C) e forva 1 Y@ S WV € 90 9F T 1 AN o O 3 i He i
ol 93 2|

(D) e T Wel &t & e foll o1 fowin v e e 21

(E)  Shewl 1 G T ST e 7 W e @ et el ok feefed o sedta feraferi §
tl

el U T foehedl § 4 WE S o 5 I

(1) o (A), (B) 4R (O

@ % @) () (D)

() % B),(C) &% (B

(&) (B) 3 E)

Options :

1.1

2.2

3.3
4.4

3
4

Question Number : 119 Question Id : 53307219244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feaferfan - 92 e v | gaifd &7

(A) 3 e & AR, A e e, A g e A
(B) et <t oiR et ekl 7 T 1 T ot ek A | o R

(C) T Ve 3| =1 % TR SRR U aR 3 <, Vil i T Sl g e Se
(D) T % T e ¥ Tes 3eH R 3 T i S & S wewn o 81
(E) @R F &, 7 & o, T R, 1 S F Fr ¢ TR

4 feou e forpedl H ¥ Haw IR I H T B

(1) % (A), () (E)

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 53307219244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frreafeian & #19-H 5o e S0 | Hafhd &7

(A) T G § % M, R v T o e o, d  qud o A e
(B) ot <At SfR et ekl ? T 1 A ol =R T | o R

(C) T3 33| T % T R T aR 38 @, Ul B ST i) g Gt Sew |
(D) T & T e ¥ Tes SeM R 5 T i S & o wew o o1
(E) @w # &, e H & @, T Y, S F F ¢ TR

e feu T fopedl H & WoR STEE I A T B

(1) A (A), B), (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307219245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefafas § 7 9 v TREr 37 § gate T8 87

(A) 3 wwg # 38 a7t e S T e T e o, W ol H e wed o

(B) T @ fF o S TR 1 3% o W 7 H o ey 7 % W

(C) V1@ 1 AT | 38 BTed & WRIG <@ o1 Werqrr % &1 i o)

(D) ¥ R off =eret H g8 T el e, e o W, W THH € i a1 B WAl 67
(E) " W= aect ¢, ‘BT W 1 Al v SR I W TE et

A few T foedl H § Wa AR I H T FI;

(1) F@ (C) D) (E)

() %@ (A), () (D)
() F (A), (), (E)
(4) a (E), (B), (D)

Options:
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 53307219245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



freferfiaa & =i 9t dfe Terert sw=rm @ i T8 £

(A) 3 wwg # 38 a7t T SE T | S T He o, T N H e W e

(B) @ ok o oo T A AR o @ 1 e fer A w Ew

(C) W&t T | 39 Bred & I B 1 WeTar Y% & S o

(D) i oft SRt A wg T e TR, Sa oft T, W3O o S 96 P D G § 2
(E) ‘=1 <edt 2, ‘2O Wo A fveege 9 I W Te e

e fou T fomred § # We ST I A T FIA;

(1 %W(){D) {E)

() @ (4)

() W(A)(){)
(4) % (B), (B), (D)

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307219246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

'y e % Faiy ¥ Frerfcfen § 9 PR 9 S o

(A) T TR F s 3R 4% TE-Fi ¢

(B) ¥ AeH W ok el W ol it AR € W A H W o TR a1+ gfe A 2
(C) 3R FUFTah Tt § Haigg SR 90l g 3feeng o €

(D) T 3 | 7 ToF TR S # 2

(E) SEreaivet a1 o SR St T ¢

A fou U ferpedl  H T U S I FI

(1) e (D) & (B

Options :



1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 53307219246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

el T2 o Fee ¥ fefcifEd § 9 & 8 FH o

(A) T TR F s 3R 4% TE-Fi ¢

(B) ¥ AeH W ok el W ol it AR € W A H W o TR a1+ gfe A 2
(C) e T [Tel § Heig & Y G0 3feerd et £ |

(D) T 1 gfte § 7% e R S A ¢

(E) SEreaivet a1 o SR St T ¢

e few T foered ¥ WaW SugER S A T F
(1) 9 (D) 4R (E)

() 9 (A) 3 (C)

(3) e (B) AN (O

(4) o (E) o (B)

Options:

1.1

2.2

3.3

4.4

Question Number : 122 Question Id : 53307219247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



freferfiae & M- shom SR A e F Heo H oR €7

(A) 8 e 1881 foran a0 o1 Si el o Sumeny e W It o7 afveia off ga
(B) T4 e W U ¢4 T

() faf sfeh-Tom-ima 2

(D) TR g9 T SR 3 # e foms ved B

() WrEFE @ T G, g9 o faft vet el | 78 99 ofF A 2

A feu T forpedl | § WerM g I FH =TI o
(1) 9 (B), (C) (B)
(2) 5 (A), (), (D)
(3) %9 (), (D), (E)
(4) %9 (B), (D), (E)
Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 53307219247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freferfiad & -1 shom SR TR e F Heo F ome €7

(A) 7 e 1881 H foran T o1 S el o Sumems e W I o7 afve of ga|
(B) W H W UE T B

(C) ot S5 B

(D) T 5w & 91 SR 319 1 e fomre e & |

(E) W F¢ a Tl g, g0 o faft ves el | 7% 99 o A e

A fou U forpedl H § e SUgER I T Hie;

() % (B), () (B

Options :



1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 53307219248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

‘TR 1 U feq! ek H A 91 e Afoarsh % g Tel el TR ?
(A) 39 Hid % A ST & 59 G 29 T |

(B) HRI "W &N o 319 Fw fed 51 wew # w |

(C) #HA M T forvard el &, T aidl i € |

(D) T, 78 T el & Wkl | TR 28 T9 TR el |

(B) o AT 1| 379 off 9eR1 § g 991 7 O FH FL G L

= feu U foedl H ¥ WaQ SUgad I F =99 FHOT ;

() 9 (A), (B), (D)

(2) & (B), (D), (E)
(3) e (A), (O), (E)
(4) @a (C), (D), (E)
Options:

1.1

2.2

3.3

4.4

Question Number : 123 Question Id : 53307219248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘3rTe 1 U fed’ e H FiA 91 A ufearsh g Tel el TR ?
(A) 39 H<d % A St # 99 gasmd 29 T

(B) &HRI G 2 T oy @ for o wew # e |
(C) HAEM T Torvard el &, T a1 o €|

(D) ;7 I 7El & Wehel | B %5 T8 TR el |
(B) o T o1 | 279 off 99eh1 § W 991 A 9 FH H S
A fou o fasredl § § WaQ I0ge ST H TIT HIOT ;
(1) = (A), (B), (D)

(2) % (B), (D), ()

(3) = (A), (O) (B)

(4) %= (), (D), (B

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307219249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

freAfefaa § § Fi9 o T TR 2
(A) =g

(B) AW

(C) ErE

(D) HfER ®Is

(E) T

A feu U fomredi H ¥ Tay SUge I 1 T 9
(1) = (A), (C), (B)

(2) %9 (B), (), (E)

(3) 4w (A), (B), (E)

(4) %9 (B), (D), (E)

Options :



1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 53307219249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frefefea H 9§ S o @ TR 2
(A) @

(B) A

(C) e

(D) Hferd st

() T

A feu U forpedl § § WeEW SUFE 3T 1 =IH e
(1) 9 (A), (C), (B)

(2) %9 (B), (), (E)

(3) 4w (A), (B), (E)

(4) %9 (B), (D), (E)

Options:

1.1

2.2

3.3
4.4

Question Number : 125 Question Id : 53307219250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feafefia & 917 71 %o Fef & R e’ & g T 22

(A) TR & ST T TR 3¢ A 6 F 0T W T an |

(B) T YRR W W S o 9171 e T A €, 9% 4, v o om o

(C) el & Feretl % 9918 B 9 H AW A ¥ 7 |

(D) ¥ 7 & foF U0 0 A SFIC % 95 9 A 7 & 6

(E) e o WETH S A o FF Herd b a1 FO-GEER A F a0 79 e 6 fow o
e T

T fom T ot o 9 WM ST I A 9 FIC

(1) @ (C) D) B

@ %@ (4) (©), [0

() @ (8), (D), ()

(@ % (8),(C) (B

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 53307219250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



feafefia & 917 71 %o Fef & R e’ & g T 22

(A) TR & ST T TR 3¢ A 6 F 0T W T an |
(B) T TR A R e & 97 e T2 W €, oW €, wwen o o o
(C) el & Feretl % 9918 B 9 H AW A ¥ 7 |

(D) 3 78 & o T o0 1 et 3% G W A7 4

(

F) e & ToT S 0 & GRHA e o oG S-S 3 FE oY 7 e 3 fom # g
FeH 31|

T fom T ot o 9 WM ST I A 9 FIC
(1) @ (), (D) (B
@ ¥ (4), (), (D
() ¥ (8), (D), (B
(@ % (8),(C) (B

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307219251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs

Tei-1 GeEi-11

( &I ) ( T=HTRT )
(A) Hgif<rer s fosm () 9=
(B) deTeHas Ut faam (II) TieERfTerl ¥a
(C) wf fagm (L1) =T <Rt

(D) areEfa=y & Hgif<ek 9a (IV) SH ferary
=1 feu U faepedi #§ 9 W& SO 1 =99 Hie

(L (A1), (B)-(D, (©)-®), (D)-(IV)

(2)  (AAIV), (B)-(IIL), (CO)~(ID), (D)-(I)

(3)  (A)-IV), (B)(D), (C)-(II), (D)-(II)

() (A)AIV), (B)D), (C)-(II), (D)-(III)



Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 53307219251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s

Tll-1 gei-11

( TR ) ( TR
(A) Hgif< am faam (O W=
(B) qeTeHas et fars (II) Tireterfaer] ¥@
(C) waf faam (L) T <

(D) arEEfa=Y & Hglf<eh 9 (IV) 5IH ferar
= feu o fawedi § € W& S 1 = FT

(1) (A1), (B)-(D), (©O)-0), (D)-(IV)

(2)  (A)AIV), (B)~(III), (CO)-(1D), (D)-(I)

(3)  (A)-IV), (B)-(D), (C)-(II), (D)-(I)

4) (A)-IV), (B)-(D), (C)-(II), (D)-(III)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307219252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

'ﬁ:ﬁ.[ -11

( ferfram ) (=)
(A) TSy sSfafEE () 1968
(B) TSTHMT Hahey (I) 1963
(C) Witk w8 (F=ita faf) arfufzm (I1) 1976
(D) TS e (IV) 1973

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A)(I), (B)}-(II), (O)~(IL), (D)-(IV)
(2) (A1), (B)-(I), (C)(IV), (D)~(I)
(3) (A, (B)-(I), (O)-(11), (D)-(1V)
4) (A)-(IV), (B)-(LI), (O)A1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 53307219252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Heil-1 8 gt-11 =1 e Hifs
Tei-1 THI-11
( ferforam ) (a)
(A) TSy st () 1968
(B) TSI Hahey (I) 1963
(C) wiftrpa w8 (K=t faft) arfuf=m (Il) 1976
(D) TS e (IV) 1973

= feu e faredi § © 9E 39 &1 =94 FH9
(1) (A)-(I), (B)-(1I), (C)(IL), (D)-(IV)
(2) (A1, (B)-(I), (O)(1V), (D)~(1L)
(3) (A)-(1), (B)~(I), (C)-(11), (D)-(IV)
4) (A)IV), (B)-(11D), (O)-(11), (D)-(I)



Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307219253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e sifsg .
Tl-1 Teit-11
(FTeeh ) ( FTEeReRTT )
(A) T ER () =ARH T
(B) THH WR (II) TS AR
(C) &Y (i) fergamny foe
(D) 3 T (IV) TIare ==

= fou 7o fasredi § ¥ 9 IO F =949 Fif6U
(1) (A1), (B)-(I), (C)~(1V), (D)-(1I)

(2)  (AMD, (B)}-(II), (CO)~(1I), (D)-(IV)
(3)  (A)-(1), (B)-(II), (C)-(IV), (D)-(1I)
4) (A)-(I), (B)-(11), (O)-(1), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 53307219253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 fAer s .

Tel-1 -1

(FTER ) ( AR )
(A) HY ER () =A™
(B) THH TR (II) TS AR
(C) +ed (I11) fervey fHg
(D) g TgA=<A (IV) e =<

= feu 7o fasredi § 9 98 39 1 =94 e

(1) (A1), (B)-(I), (CO)~(IV), (D)~(1LL)

(2)  (A)D, (B)-(II), (O)~(II), (D)-(IV)

(3)  (A)-(D), (By-(II), (O)-(1V), (D)~(LLL)
) ) (D)-(IV)

(
(4) (A, (B)-(11), (©O-1), (D)-(IV

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307219254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs

Ti-1 a1

( ufsreRT ) ( T )
(A) 3R FEfaH () TH== JFd
(B) fo=m (I1) ==e Il el
(C) HHTC=H (L1I)  Terelt =0 ami
(D) Hi&¥HA (IV) Sorehl 7 @it

= feu e faredi § © 9E 39 &1 =94 FH9
(1) (A)-(1D), (B)-(I), (C)-(IL), (D)-(IV)
(2) (A, (B)A(I), (O-(1D), (D)-(IV)
(3)  (A)-(I), (B)-(I1I), (C)-(IV), (D)-(II)
4) (A)-(D), (B)-(IL1), (CO)-(11), (D)-(IV)



Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 53307219254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s

Tl-1 Teit-11

( ufsreaT ) ( HuTEe )
(A) &g R () IS 9
(B) fa=m (I1) ==ET IE e
(C) wHTE=HR (III) STarell =0 oo
(D) M (IV) ookl = &3

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A1), (B)-(I), (C)~(I), (D)-(IV)
(2) (A1), (B)-(I), (O)-(1I), (D)-(IV)
(3)  (A)-(I), (B)-(I), (C)-(IV), (D)-(IL)
4) (A)-(I), (B)-(I), (C)-(1I), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307219255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tel-1 GE-11
(T=AT) ( TeFATeRTT)
(A) TarEA (1) Tk A
(B) NI |l (I sifEew
(C) T 71 & 43 W (1) et
(D) & =% M (1IV) T diemee

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A1), (B)-(I), (O)~(IV), (D)~(1LL)
(2) (AL, (B)-(IV), (O)-(I), (D)~(IL)
(3) (A, (B)-(1D), (O)-(1), (D)-(1V)
4)  (A)-(IV), (B)~(11), (CO)-(L1L), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 53307219255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Ti-1 Gt-11
(T=FT) ( TEATRTT)
(A) TrarEA () Tk A
(B) NI |l (I sifEe
(C) Tl §1 ki 43 W (1) feramfd
(D) =M =% SfmE (V) fsra= diemede

= feu e faredi § © 9E 39 &1 =94 FH9
(1) (A1), (B)-(I), (O)(IV), (D)-(II)
(2)  (A)1D, (B)-(IV), (O)-(1), (D)-~(LL)
(3) (A)-(11), (B)~(1D), (O)-(1), (D)-(IV)
4) (A)HIV), (B)-(1D), (C)-(111), (D)-(I)



Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307219256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
Tll-1 Teit-11
(vrsg) (wrardeh )
(A) F=fEUY () FY g
(B) FemILFAl (1) fafesm waEA
(C) o= (Il) e 22
(D) fatiemmg (IV) T&E U9 a1A

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)-(D), (B)-(II), (C)-(IL), (D)-(IV)
(2)  (A)-(D), (B)-(IL1), (C)-(II), (D)-(IV)
(3)  (A)-(1D), (B)-(11), (O)-(IV), (D)-(I)
4) (A)-(IV), (B)-(1I), (O)-(1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 53307219256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

-1 -1

(9Teg ) (W )
(A) Fr=fEUY () =& 939
(B) sHmILFAI (1) fafeem woagA
(C) = (1) TeH 22
(D) TatsmTg (IV) T@E U9 a1A

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A)(D), (B)}-(ID), (O)~(IL), (D)-(IV)
(2)  (A)D), (B)-(II), (C)~(1T), (D)~(IV)
(3) (A0, (B)-(11D), (O)-(V), (D)-(D)
4) (A)-(IV), (B)-(LI), (O)A1D), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307219257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs

Ti-1 Get-11

(=rea fagia) ( 2roffrer o)
(A) Soafaar () SEIeyH
(B) srfafaar (I1y o <9
(C) yfaars (IIl) =19 TIH
(D) afyeafamam (1v) 3= 79"

= feu e faredi § © 9E 39 &1 =94 FH9
(1) (A)-(1), (B)-(LI), (O)-(II), (D)-(IV)

(2) (A1, (B)-(ILL), (C)-(I), (D)-(IV)
(3) (A)-(1), (B)~(I), (C)-(11), (D)~(IV)
4) (A1), (B)-(IV), (O)-(I), (D)~(I)



Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 53307219257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s

Tll-1 gei-11

(=rrea fagra ) ( greifer wat )
(A) SofaarR () TEIeyH
(B) sTfafaare (I1y  wwren <9t
(C) yfaars (1) =g =9A
(D) erfseafaam (1IV) 3= T3

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)(I), (B)}-(II), (C)-(II), (D)-(IV)
(2) (A1), (B)-(I1L), (C)-(1), (D)-(IV)
(3)  (A)-(1L), (B)-(I), (C)-(1I), (D)-(IV)
4) (A)-1D, (B)-(IV), (O)-(1), (D)~(II)

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307219258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tel-1 -1

( TeToT ) ( 3r=d )
(A) <o oo o= TN HEOwE a9 | () Tu=t
(B)  TUTfaraiETerHt ST: | (I) T

(C) wemefasiy:, Tv= g&a: | sfavgs: (IlI) =T

(D) <r9: TEie & W wHad & 9 | (IV) ke fHg
= feu U fomredi § © W@ I F =999 HIf9T

(D (A1), (B)-(II), (C)-(I), (D)-IV)

(2) (A, (B)-(IT), (C)-(IV), (D)~(III)

(@)  (A)-(1D, (B)-(I1D), (O)-(IV), (D)-()

4) (A1), (B)-(I), (C)-(Im), (D)-(IV)

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 53307219258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Heil-1 8 gt-11 =1 e Hifs

HEit-1 -1

( 78107 ) ( T )
(A) <ron: foroed a3 TN Heaed a9 | () TUst
(B)  TUTfaTiETCHHT Sr: | (I) we

(C) WemYefaey:, Ty &4 | Sfavgs: (IlI) ST

(D) <r9: TETe el W e fg 9 | (IV) <9 fHg
=1 feu U faepedi #§ 9 W& SO 1 =99 Hie

(D (A1), (B)-(II), (C-(I), (D)-IV)

(2) (A, (B)-(IT), (C)-(IV), (D)~(1IT)

(3) (A)-1D), (B)-(ID), (O)-IV), (D)-(I)

4) (A1), (B)-(), (C)-(m), (D)-(IV)



Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307219259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
Tl-1 Teit-11
( H ) ( HEATUS )
(A)  wefATHAS () WeRd Mia< e
(B) TcE@IeHl |l (I1) FeeEras o
(C) =g gHSl (Il1) S=fean we
(D) T JNYF TS (IV) o9 ST

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)-(D), (B)y-(II), (C)(IL), (D)-(IV)
(2) (A1), (B)-(I1L), (C)-(IV), (D)-(I)
(3)  (A)-(D), (B}-(IV), (C)-(L), (D)~(11)
4) (A)-(I), (B)-(11), (O)-(IV), (D)-(I)

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 53307219259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tl-1 -1
(Hear) ( HEaTaes )
(A) AT EAES ) weRd Mie< IAre
(B) TE@IeHr Tl (II) k== T
(C) <= gHSl (LI1) S=fean B
(D) T JNYF FHTS (IV) <=9 BT

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A)(I), (B)}-(II), (O)~(IL), (D)-(IV)
(2) (A1), (B)-(I1L), (C)~(IV), (D)-(I)
(3)  (A)-(I), (B)-(IV), (C)-(1I), (D)~(I1L)
(4) (A1), (B)-(11), (O)-(IV), (D)-(D)

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307219260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 8 gt-11 =1 e Hifs
Ti-1 a1
(arT ) (3T )
(A) FHINH () WY H H
(B) T (I1) e %
(C) WSARIR (I11)  for=Tiame
(D) T (IV) TTeTER]

= feu e faredi § © 9E 39 &1 =94 FH9
(1) (A1), (B)-(IV), (O)-(1L), (D)-(I)
(2) (A, (B)A(1D), (©)-(1), (D)-(IV)
(3)  (A)-(11), (B)-(I), (O)(1V), (D)-(1)
4) (A)HIV), (B)-(1D), (C)-(I), (D)~(1M)



Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 53307219260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
Tll-1 Teit-11
CIED (3= )
(A) FINH () Y H "
(B) T (I1) e %
(C) WAfRIR (I11) for=i=m
(D) T (IV) TATETar]

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)-(1), (B)-(IV), (O)-(1L), (D)-(I)

(2)  (A)-(I), (B)-(1L), (O)-(1), (D)-(IV)
(3)  (A)-(1D), (B)-(I), (O)~(1V), (D)-(1IL)
4) (A)-(IV), (B)-(1D), (O)-(1), (D)~(IL)

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 53307219261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 G-I 1 e #ifs
-1 T
(hee) (urr)

(A) T v 2§ T e R yaR i (1)  fegfom
1 TorRT &1 T

(B) T WY & A e €9, e | g wem a), (I) T
T T, T o199 & L fezn 2

(C) TERIS 119 36 Seegrq & Gd WU wehell 1o & | (1) sfee

(D) %% o, 95 foF SaqF Tor fufa 1 &= (IV) FTavg
TYeR! YOI el € |

9 fou o fomedi § | W@ IO F 99 Hifo

(1) (A1), (B)-(I), (O)-(1V), (D)-(I)
(2)  (A)IL), (B)AD), (CO-(L), (D)-(IV)
(B)  (A)-ID), B)-(I), (O-(1V), (D))
(4) (A1), (B)-(I), (C)-(II), (D))
Options :

1.1

2.2

3.3

4.4

Question Number : 136 Question Id : 53307219261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 G-I 1 e #ifs
-1 T
(hee) (urr)

(A) T v 2§ T e R yaR i (1)  fegfom
1 TorRT &1 T

(B) T WY & A e €9, e | g wem a), (I) T
T T, T o199 & L fezn 2

(C) TERIS 119 36 Seegrq & Gd WU wehell 1o & | (1) sfee

(D) %% o, 95 foF SaqF Tor fufa 1 &= (IV) FTavg
TYeR! YOI el € |

9 fou o fomedi § | W@ IO F 99 Hifo

(1) (A1), (B)-(I), (O)-(1V), (D)-(I)
(2)  (A)IL), (B)AD), (CO-(L), (D)-(IV)
(B)  (A)-ID), B)-(I), (O-(1V), (D))
(4) (A1), (B)-(I), (C)-(II), (D))
Options :

1.1

2.2

3.3

4.4

Question Number : 137 Question Id : 53307219262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 § Gii-11 %1 e ki
Tel-1 -1
( SHETrenTT ) ( =hET)
(A)  Tovarery s () qUfed = AR
(B) gAARYT difera (I1) STHIGY TS ] ATCHFRTA
(C) wemER fug (1) et &2
(D) HIfder THEG @A (IV) =2 & YA A&
= fou U fomredi § § W@ 3L FH1 =G FiTaAC;
(D) (A1), (B)-(I), (C)-(IL), (D)-(IV)
(2)  (A)IV), (B)~(1I), (C)-(11I), (D)-(D)
(@) (A1), (B)-(IV), (C)-(IIL), (D)-(II)
(4) (A)-(II), (B)-(IV), (O)-(1), (D)-(II)
Options :
1.1
2.2

3.3
4.4

Question Number : 137 Question Id : 53307219262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teil-1 § Gt-11 1 fAam Hifs;
Tei-1 -1
( HETHHRT ) ( g )

(A)  Toverereny s () qUfed o1 ATHERT

(B) gHARTAO iferd (II) STHET T T SATCHFR!
(C) wrayER g (1) Tl &&=

(D) whifdeh wH@ (IV) <=8 o 3EYH &M
i1 fou U faepedi # 9 We& ST H 991 Hieu;

(D (AL, (B)-(II), (C)-(m), (D)-(IV)

(2)  (A)-(1V), (B)-(IL), (O)-(11D), (D)-(T)

(3) (A1), (B)-(IV), (C)-(II), (D)-(I)

4) (A, (B)-(IV), (O(1), (D)-(IN)



Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

-1 9 gEit-11 =1 e s
Tll-1 Teit-11
(arr) (FTesh )
(A) THTH () g 1 T e
(B) = (1) =
(© foam (L) ST g&em
(D) e (V) Ereaft

4= fou 7o fasredi § ¥ 98 SO 1 =94 e .
(1) (A)-(), (B)-(IV), (O)-(I), (D)-(II)
(2)  (A)-(IV), (B)-(1), (C)-(11L), (D)-(I)
(3)  (A)-(1D), (B)-(11), (O)-(IV), (D)-(I)
4) (A)-(IV), (B)~(I), (C)~(1), (D)-(IT)

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 53307219263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 frer shifs .

Tel-1 -1
(arer) (e )
(A) TS () g 1 T 9
(B) 3T () =Y
(© o (L) TR g
(D) 3o (IV) et

= feu 7o fasredi § 9 98 39 1 =94 Fife
(1) (A1), (B)-(IV), (O)~(I), (D)-(IL)
(2)  (A)-~(IV), (B)~(IT), (CO)-(111), (D)~(L)
(3) (AL, (B)-(11D), (O)-(V), (D)-(D)
(4)  (A)-(IV), (B)-(1I), (O)I), (D)~(IT)

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307219264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Teft-1 9 g1 71 e Fifa

galt-1 a1l

(F) (arT)
(A) 9w TR B | M S SR TR e Fruem AR e () foem
(B) ¥ 38 WITAN Tl SN &1 < FH SAHR o TR T @ (Il)
(C) WEwHIA I Al T # i # w ¢ (1) ToM
(D) ¥ 59 T ST TR R S 5T ST A € (V) T
i< feu U okl H | WE I F T HIC ;

(D) (A), B}-(IV), (L), (D)-{0)

(&) (A0, BRI, (C-IV), (D))
() (AR, (B)-(I, ©-1V), (D)0
(4) (AR, B)-{L), (©O-1V), (D)-{)



Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 53307219264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Telt-1 9 i1 = e i
Telt-1 gei-I
(F9T) (ar)
(A) e gEER § | M S R T e g uem AR gl () foem
(B) ¥ 3/ WA Tl SN &1 < FH SHHR i TERI Tl @ (Il)
(C) WewHIE I HiA T H I H @ ¢ (Ill) oM
(D) ¥ 39 T 37O TR U S 5T STV AR ¢ (IV) T

At e U femredi § 9 WE I F 70 R ;

(1) (AHI), (B)-(IV), (OH(IL), (D)-(D)
(&) (AHD, BHI), (O-LV), (D))
(3)  (AHI), (B, (©)-1V), (D)D)
(4) (A, B)-(), ©)-(1V), (D)-0)
Options

1.1

2.2

3.3

4.4

Question Number : 140 Question Id : 53307219265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Telt-1 G171 e e

Tl -1
(fert) ()
(A) o % el e U el Rl e, W W () e v g

% T A 2|

(B) ST SN AW TZ M| MM IMFA T () RWAFe M@ e
el 3 4N 2|

() &7 enfur 1t o From o O foem veRn S (1) W R Wi
T AR FA

(D) oG &R W g & AW § oo o fw? frm aR?  (IV) 38 S HEIR
fer® &1 7 o <) W

1 fou T foedl W 9 W& T A = F

(1) (A}, (B)-(V), (C-{Im), (D)-(1

2)  (AJD), (B}, (C-(Iv), (D}

) (A, (BIHIV), (CHI), (D)-(1

) (A, (BIHIV), (CHI), (D}

Options :

1.1

2.2

3.3
4.4

@ |
() |
@

Question Number : 140 Question Id : 53307219265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Telt-1 G171 e e
1 :eial

(vifert ) (&)
(A) o % el e U el Rl e, W W () e v g
T 397 2|

(B) ST SN AW TZ M| MM IMFA T () RWAFe M@ e
el 3 4N 2|

(C) &7 orfeel o o 7 R o O o sem A (1) W R dicd
T AR FA

(D) o musMafwd o F o) frmaR? (V) 2 9m e
fep &R 7 a7 & |

A feu o fomedl # @ W SR T FIW0

(1) (A, B)-1V), (©)-(I), D))
() (AH), (B}, (CHIV), (DHI)

() (A, BHIV), (C-(1D), (D)0

(4) (A, (B}-IV), (1), [D}(I)

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 533072753
Question Shuffling Allowed : No

Question Id : 53307219266 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



frfirfs s &t s ufeu oi wafim v 4 s it

TR B P AR A A A A AR A e F S % A o @ 9
P 0 A e % e o 3 o v & afofem 39 3 ol (st o i) 1 o aver
o1 | R TR~ 3 TN | ST A SRRl o WHY! %l AN § Fa) o WA € o o
AV T 1 T (o4 T 5 T T % SOV 6 T ¢- s S, i -
SR AT, 2fT8-SqH ek e, ST o S 0 g VAT AT i tafe-rel & W
T e T & | 30 Ve oreEn-am A g A TR R e @ I S T | | ARa A
Ve YR R QU el ¢ o 9 o ane ot o v ) e € o ) R o M ¥
T &, T T TR AAE-0E A e A 3R A T Few SR wel A @
- 37 AR S S ) THeRR 9 -

T, EE oAfe-a g ) A a6 T €1 o A, FE 3 oI % s § o A
T 21 o, 9 5 57 SRR o T e o SR W A | AR o SR sAf S
I, T &I e 3 o

Sub questions

Question Number : 141 Question Id : 53307219267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR o STTER HFasA | I Hed 1 Howd fhd H/ET S o ?
(1)
(2)
(3)
(4)

ﬂ%%g.

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 53307219268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I B Td TR oreiaR ® wafh o F T Wehd uTe o ® 2
(1)  wfdqersga

(2) =AfdF

(3)

“ f

Options :

1.1

2.2

3.3
4.4

Question Number : 143 Question Id : 53307219269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR & SR S % GaH § B 91 FH WA 87

(1) wWE & STl 4 S qcd % URY ¥ & Wiga |

(2) TUET WA FiqareqaT # AT 1 TR Hokd B

(3)  SAFEHE ok FATHR fareaH Sife SereRl i At el 7 ST = |
(4) STEFER ST ¢ SR T aen If 3HE 0 €

Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 53307219270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

H9 WA # qfte o fer s g faeferfan § @ fg o gves 77 fa g
(1) e YeeeIfaR

(2) #eIER
(3)
(4

Options :
1.1



2.2
3.3
4.4

Question Number : 145 Question Id : 53307219271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR & SAR SA-gufad 89 & g aTeihR &1 SHehr sfisd o e § 2

(1) 39
(2) ®UF
(3) <UH
(4) TEmETE
Options :
1.1

2.2

3.3

4.4

Question Id : 53307219266 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

rfirfias oo &t e Uieu oi wafvm T 4 v St

TR B AR H e H T AR A e 3 S % w9 9 o g )
AT W & Y % felt SIas A e Yeeuiod o s 371 S el (e o 1) @ of gved
foF | el SfcTR-a R o | R o SRRt o WHefs a1 iR § F9  Te ¢ 6 e
T T 1 I (9 S A A T A S 6 Tl ¢ e S, it Y-
ST o fU3-STeq SHTote; e, S o T2 0 g A e afcien o -7l & W
o irel 0 € | 50 W et A of ' A R R R A W WA | e 3
Ve QT A QU el & o 9 o oA et v ) i € R S SR o T 9
T 8, I TR TR F SRR F A G A T A 7 TR S Fed A
Y- 37 THAaR S Sl 1 FHGRR 5 A -

W, T Afe-a1 G B e A 9 T g AR A, B 7 e & s § o
SR &1 o, 9 5 7 AR o T e o S SR AR S | AR o SR At S e
Sy, T A 3 T o

Sub questions



Question Number : 141 Question Id : 53307219267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEIY] o STTER s | I Hed 1 Howd frd A1 S o ?

(1) HATHR
(2) difa
(3) =&
(4) W
Options :

1.1

2.2

3.3

4.4

Question Number : 142 Question Id : 53307219268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3QHZ B UEqd Tohd 3T | 2afH o & T Hehd TS Bid © 7

(1)  AfaeregaH
(2) =AfEw

(3) AR
(4) =

Options :

1.1

2.2

3.3

4.4

Question Number : 143 Question Id : 53307219269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TR & SR S % Gae § B 91 FH T § 2

(1) e 37 a3 @ a1 IR 8 & i o)

(2) UL WA TiqasqqHl # - T Hohd &

(3) SR % ATHR HdeEaH e Sfeierri i Al TEl 7 S = |
(4) ST 37§ SR T Ao gfoa s o g

Options :

1.1

2.2

3.3

4.4

Question Number : 144 Question Id : 53307219270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HOH A I Y ¥ fou srwad g fefofed § 9 e o gves w9 f el
(1) & TeeeRt

(2) ¥EER
(3) =M
(4) fa
Options :
1.1
2.2

3.3
4.4

Question Number : 145 Question Id : 53307219271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR o 3FER F-gafad 29 & Y STesr 1 Saerr i 9 6 € ?
(1) 39

(2) w0
(3) <9H
(4) AT

Options :
1.1



2.2

3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 533072754
Question Shuffling Allowed : No

Question Id : 53307219272 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension

frferfiae oo &t e ufeu ai wafim v & v St

T T AT ST 91 e SIara + 7 T ¢ o 9% Wee 740 e o e W fed ¢ 7@
e 2R T foraml 1 7 < e €, S et e o fer e €| S o o € o o v e
N 3, S 97 T T 7 9, S T o] e 2 S T 1 A S O o ¢ | 3 T o
fF o ST o e €, ST G 3o e o O | o e Sl
AT foreTe 1 99 Y A ], SN 1 36 A S i 7, 3 A T &9 A A F
o, T8 & e 9 U ¥ e 3 FE A e g1 we v o e ko @ of
ATl 3 Tl o | U e o o e 9 ¢ 1o 76k foft 71 g & o o e ffrnl 1 e
| T4 o g A A 59 e T W, 5 e il 4 e o €, sk e
oM TEf T, 0 3 TR o whE T w we, R aee § 3 e oo 9 v w an
79- T8 e % T, 79 A el ST ) S T | S e el o e ot v e
S T o R 61 S o O 7 ) R €, FUTE, W 1 58 W S e

Sub questions

Question Number : 146 Question Id : 53307219273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T % ST WG oA o St S 1 Wfafaty 7 ot o e 4 a0 A e
(1) W & %

(2) o 1 TR H o

(3) TP % e ek e

(4 e § ey

Options :

1.1
2.2



3.3
4.4

Question Number : 147 Question Id : 53307219274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS & A 3 YEdE o fE w9 § ap fem R

(1) FIeadT 1 ST Sifeid Ve ol TR A 91 o1& & &9 H |
(2) WEM Ufayl % 9 H A B Bied Al TG |

3)  I@ehi i Hfek ST |

)

——

(4) HIfeTehan o T 9T YT o g |
Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 53307219275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

ey B S A fRl e i #1 fafe w9 & gem e ?

(1) zfaer g&y
(2) HE YU
(3) == HfawurEH
(4) 3197 T&T qF i @k
Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 53307219276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TENiYT % STTHR WSl TRy 2faerd 98y & €9 H TR0 76l il ¢ 7
(1) =Tt ATHETE =a & Sl W ok Ay ad & |

(2) ST TG StaA o Faror o F A ued d €

3) S eiEeh Sie okt s W gEYl hd © |

(4) S TR AFE faeTe % Sfed €9 F a8 Fd §
Options :

1.1

2.2

3.3
4.4

—

Question Number : 150 Question Id : 53307219277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS % T H AT Sreiegara & g fae e fRe famm w s fea €2
(1) #Fa A

(2) THETER HI FEE
(3) e <l I
(4) e e
Options :
1.1
2.2
3.3
4.4

Question Id : 53307219272 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



frfirfs s &t s ufeu oi wafim v 4 s it

o ek AR e o1 e a1 A 7 W ¢ 1 9 FIeed 90 it o Tg0s  fohd) L 0
e e T foraml 1 50 € R &, 0 o v & e Feen | R i e € ) o ) T
T, S o 1 o, A ek el e W e A A W A T | 3 e A
0 o A0 K o T 0 €, S TR 3 St G o 9 0 A ¢ | W o W A
Ao foeTs 1 99 VR A O, WS P 36 O Saq T o, I A Fed &9 A a9 FH
9, T8 & ol 1 T ¥ A A T T R g R T 9 e e @
TS F TR T | T e o et 7eR o fo 9 fort 7 g & T 4 s e o e
| T4 o ¢ A A 59 e < T W, W 5 e vl 4 e e €, sk e
o T R, W TR W 6 G T e, 9 R e & 3 e e 3 veee e A
B9-T T o ST, 70 G e 7 o) 61 T T | N 8 e e & epfec @ e v e
S oW o R 1 T A0 T T A ¢, JUE, A 1 39 W W 3 e

Sub questions

Question Number : 146 Question Id : 53307219273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR % ST WA A & S S o ot e o o e 6 9 9 e e 2
(1) WFE & F T

(2) e B T H A

(3) W % T e Ao

(4)  STeE ¥ S

Options :

1.1

2.2

3.3
4.4

Question Number : 147 Question Id : 53307219274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TS % a3 YEEdER o fry w9 § R fem ®2

(1) WIsHal 1 3! Sifed i 1 TR0 FA 9l @@ &6 9 H |
(2) weH Afadr % ®9 H T B9 Bed G @ |

(3) ©TEehi I Hfe ST |

(4) TIfeTeRa o T Y YTei=al o UToe |

Options :

1.1

2.2

3.3
4.4

Question Number : 148 Question Id : 53307219275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR H orEes A TRE weres i ot frate R w aar S e ?
(1) sfdemm g&9

(2) A WAHTEH

(3) = gfqurEm™

(4) &I91 &Y q%F HifHa S@F

Options :

1.1

2.2

3.3
4.4

Question Number : 149 Question Id : 53307219276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR o STTHR Al fohd sfaerd qey o ®9 H W 76 Rl 2 7
(1) =Tt ATHETE =a & Sl W ok Ay ad & |

(2) =0 "Hg Sied % gafir faeEr 5 A g #3d € |

3) ST o e o s H e i ¢ |

(4) = orEE THd I F Sfed B9 H1 6 F €

Options :
1.1

—



2.2
3.3
4.4

Question Number : 150 Question Id : 53307219277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEY o T H ST Sriegara # e fawe gor: Ry fawa w H e 82
(1) wra e

(2) THETER HI FEE
(3) S ol I
(4)  weo e
Options :
1.1
2.2
3.3

4.4





